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Unit 1
SET
EXERCISE 1.1
Write the following sets in descriptive
form,
(1)

(i)
(11)
(iv)
v)
Ans.
(1)
(11)
(iii)

(iv)
(v)
(1)
(ii)
(iii)

2 03O0

A-{1,2,3,4,5, 6,7,8,9,10}
B=[a,b,c,d,ef}
C=1{2,4,6,8, 10}
D={2,35,7, 11, 13, 17,19)
E={3,69,12,15)

A is a set of first ten natural numbers.

B is a set of first six English alphabets.
C is a set of first five positive even
numbers.

D is a set of prime numbers less than
20.

E is a set of first five multiples of 3.
Write the following sets in’ tabular
form.

A is a set of the first five multiples of 5.
Set of natural numbers between 10 and
20. :

Set of the names of the days in a week.
Set of positive even numbers less than
10. .

Set of the first five English alphabets.

A -{5, 10, 15, 20, 25}
{11,12,13,14,15,16,17,18,19}
{Monday, Tuesday, Wednesday,
Thursday, Friday, Saturday, Sunday}
{2,4,6, 8}

{a,b,c,d, e}

Write the following sets in set builder
form.

A={1,23,..20}

B={a,ei,o0,u}

C = (Peshawar, Lahore, Karachi
Quetta)
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i P '|S:sct of the even numbers,
v 518
WATIL. isa natural number < 20)
(i) {x|xisavow§l} -
Gy B g ) I‘x <  capital of provinces)
1 (iii) ([;—:[Eilx is an 0dd Inurnber{)
3 = [x]|xisan even number}
) B=UEXERCISEL2
1 Find union and intersection of th,
. Jowing sets: -
VLY R B L9
’ A= {1230 B = {-2,-3,4, -3}
123,10, B= {1,357}
v A= {135 7,11,13},
" B=15067 8,9,10, 11}
A= lSet of first 10 natural numbers
v. B = set of first 5 positive even numberg
If
: A= {0,1,2,3,4,5}
B={1,3,5) . C={43}
then find and
(i) (AUB)UC
G) AN(BUC)
(i) (ANB)NC
(v) AUBNC)
) (AUB)N(AUC)
A={0,1,2,34,5},
B= {1,3,5}, C= {3,4,5}
Sol:
i) (AUB)UC

(AUB) = {0,1,2,3,45} U {1,3,5}

(AUB) = {0,1,2,3,4,5}

(AUB)UC= {0,1,2,3,4,5} U {1,3,5}

={0,1,2,3,4,5)

AN(BUC)

(BUC)  ={1,3,5} U {34,5}

(BUC) = {1,3,4,5)

AN(BUC) = {0,1,2,3,4,5} N1{1,3,4,5)
= {1,3,4,5)

(iii) (ANB)UC

(ANB)={0,1,2,34,5} N {1,3,5)
= {13,5)

(ANBJUC = {13,5} N {3,4,5)

(11)
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= 11 n'-l Phatatatatatatstaistssataisisiatstes st asarsiatstas
Al uBNo) i B={3,69,12.18}
M 0° {1 3,5) N {34,5) (i)  AWB=(1,2,34.681\3,09,12,18}
B 8 = {1,2,4, 8}
1(‘) - t0 1,2,34,5} U {3,5) B\A = {3,6,9,12,18} \ {1,2,3,4,0,8}
B 012,34, 5) ' = {9,12,18)
\UB) N (AUC) A\B = (1,2, 4,8}, B\A = {9,12,18}
o) \B)= {0,1,2,3,4,5} U {1,3,5) ) then A\B # B\A
t‘ - {0,1,2,3,4,5} . |
- {0,1,234,5} U {34,5) ¢ U=1{1.23,..20}
AU ,_{012345} | ?_) A= {246,...20}
AUC) = {0,1,2,3 {() B={135,..19}
U )fq ({0 1 )233,5} ) : then find the complements of the
= {0,1,2, 34,5} . following sets:
If _ A =1{123,..20} \ {2,4,6,...20}
3. ={1,3,5,.....19}
= {0,1,2,3,4,5,6, {
' g=§245310}67’8’9’10} $B'  ={123,..20}\ {1,3,5,...19}
henfind { = a6.20)
DA and AR (iii) C={3,6,9,12,15,18}
» 2
Sol: A= {1s293,455,6)7,8,9,10} 3 \ 3 6{192]'.23 :5 180}
B = {2,4,6,8,10} B B { }
- — (1234 ; = (1,2,4,57,8,10,11,13,14,16,17,19,20}
() A\i; é o 9,6,7,8,9,10} \ : (w) D = {4,8,16,20}
2,4.6,8,10} $D' = {123.4,..20) \ {4,8,16,20}
= {1,3.3,7.9} E {12356791011 13.14,15,17,18,19}
i) BA={2,4,68,10}\ $3.  1fU={4,8,12,16,20} then find
{0a1,2a3a4s536a7,8,9,10} ] ¢" and UJ'
={} : Sol:
4. g B U = (48,12,1620} \ {4,8,12,16,20}
={a,e,i,o,u}»C= {ab,c,...x,y, : | =
ve J {a,b,c,...x,y,z} ' U =~
then find. : = { }\{438,12,16,20}
D\C and C\D ! _{ V= ¢
Sol: 4, IfB {cde} A= {abc},
= {a$b3ca ---- stiZ} \ {a,e,i,o,u} b4 = {ab c, d € f}
= {b,c,d,f,g,h,j.k,l,m,n,p,q,r,s,t,u, v, W, X then ﬁnd and check AUA' & ANA/
Y, 2} t AUA' and ANA'= ¢
i) D\C= {aejou}\{abc,..xyz} !: Sol: U= {abcdef} A= {abyc,},
= $if aB= {\c,d,e}
Solution Exercise 1.3 §G) AUA
A A = {abedef)\ fabe)
. ¢ = {d,e,f}
(1) B={3,6,9,12,18}, A={1,2,3,4,6,12} ¢ i
ot Ll | r 3 b A | : AU — ,b, , £,
then find A\B, B\A and check whether  § i {{2 bcc }d[é f{ld &.f}
A\B =B\A $ GHNE I ¥
Sol: A={1,2,3,4,6,8]}, s (“)Anf\ G L A0
s 4 N
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ANA'= {} 2'AUA' = {abed.e.f}
ANA" 2 AUA

S MU ={1.23,......10)
A={1.3,5.79) B ={2,4.6,8,10)
then find

) (AUBY Gy (ANBY

(i) A'NBY v (A'UB)

(v)  ANB) (vi) BNA/

Sol: A ={135779)
B={24,68,10)

(i)  (AUB)

(AUB) = {1,3,5,7,9} U {2,4,6,8,10}

{1,2,3,4,5,6,7,8,9,10}

(AUBY ={1,2,3.....10} \{1,2,3,....10}
=1} :

(i) (ANB)'

(ANB) = {1,3,5,7,9} N{2,4,6,8,10}
o |

(ANBY = {1,2,34,.... 10} \ { .}
= {1,2,3,...10}

(i) A'NB
A'=1{1,23,..10}

-----

) $1435,7.9}

= {2.4.6,8,10} ‘
B = {1,2,3,...10} \ {2,4,6,8,10}
= {1,3,5,7,9}

A'NB' = (2.4,6,8,10) N{1,3,57,9}
L

(ivy A'UB'=
A= {2,4,6,8,10}
B' = {1,3,5,7,9}

A'UB' = {1,2,3,4,5,6,7,8,9,10}

(v) ANB'=

A={1,3,5,79}, B/={1,3,5,7,9}
ANB = {1,3,5,7,9} N={1,3,5,7,9}
=11,3,5,7,9}

BNA'

B = {2,4,6,8,10}

A =1{2,4638,10}

BNA/= {2,4,6,8,10} N {2,4,6,8,10}
= 12,4,6,8,10}

(vi)

6. Find whether sets panel Q are
overlaping sets of disjoint
l)

= Natural numbers between 35 and 60

P R R P B A R R R Y
Ll o

SRrtetaratatatatatatarcraratsistatatalslaralslss

6 e eeraees Math., I
“‘00‘000’0“ w‘.
= {36, 37, 38, 37, wesene 59}
— Nautral numbes between 50 and 80
={51,52,53,54, ...... }
common numbers betwen P and Q
=[51, 52, 53, 54, wseues 59}
P and Q arc overlaping sets

(i) P = L.tters in the word Moon =
{M,0O,N}
Q

AR} i
common word betwen P and Q = {}

P and Q are disjoint sets
EXERCISE 1.4

| If U=1{1,2,3,...10) then find A u ;
B and AN B in each of the following
cases and draw their Venn diagrams:
A={234},B={1,2345 |
U = {1,2,3,10}, A= {2,3.4} 1
B = {12,345} |

AUB = {2,3,4} U {1,2,3,4,5}

= {1,2,3,4,5}

3
!

(ST,

= Letters in the wods STAR =

ooooo
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ANB={2,3,4]

ANB={2,34} N{1,2,3,4,5)

¢ ANB = {2,3,4)

$(i) A=1{24,68,10},B={6,8)
AUB ={24,6,8,10} U {6,8}

= {2,4,6,8,10)
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\ ‘."'; = {24.68.10} Ni68 \.n ...,..”““27 Math-7
\ﬂ] N’.“““0000.0“““.........4“““..“-4.4
AN\ .—u ‘
, s a4
1 ] 7 10
\
] — § v
AN = { }
’ - {Il2!4!5,6’7}
ANB = (1,56} (24,7)
> ={}
$2. IfU={a,b,cd,e} then find
t B\As/A\B'
4 SOl: U {a,b,c,d,e}
() A={ab},B={abc)
AN B:{(), 8} (") ’ ) 'Yy
‘ A\B = {a,b} \ {a,b,c}
(iit) A={13579}B= {2,351 =1{} |
AbB'{13379}U{2357} :(11) U={ab,c,de} A= {ab}
AUB =1{1.2,3.5,7,9} : "{abcde}\{ab}
A={13579) ; = {c,de}
B = {2,3,5,7} 3 |
ANB = {3.5,7} :
U $
4
|
4 Z
: A':{(‘, d, c]
Z = {ab,c,de} \ {ab,c)
AUB={1.2,3.5.7.9) ={de}
U . \
2
[\
4 7/ i
Y/
6 : 10 ’ |
AnB={3.5.7) "={d.¢]
(lV) = ;1 5 6} B= : {2 4 7} (IV) B= {a,b,c} AU = {a,b} B\A = {C}
AUB (1,5,6) U (2,4,7) @) U={abycde} '
| s U
4
. @ ‘t
4
10 }
} d
{ €
AUB= l 2.4,5,6,7 ;
! A\B={}
::}i 1\_ SNSRI TSRS e .




(1)

(iv)

88

sasoser “.‘“““..“““v‘

Math.y

tay

A\B = {b,c,e} \ {c.c}
= 1b.d}

B\ A ={ (‘}

A’ = {abcde} \ {bed}
= {a,e}

B' = {a,bec.de} - {c.e}
= {a,b,d} '

\&\

A'={a. e}
B\A = {c,e} \ {b,c.d}
= {b,dj

A

B\A={c}

(i)
(if)
 (iif)

- o

4 (iv)

e
e
g

(1)

Review Exercise 1
(Objective type)

Read the following statementg

carefully and encircle '"T' in case of

true statement and 'F' in case of false

statement.

A collection of well-de
objects is called a set. (T)
In descriptive form members of a set are

written within braces. (F)
IfANB = ¢ then set A and set B are

called overlapping sets. (F) .
Difference of two sets A-B con§1sts of
all those elements of set A which are

not in B. (T) ‘
A - A is called complement of A. (T)
Fill in the blanks,

A= O

ANA= ,

(A’)' =———_—_ . .
If A and B ar¢ disjoint sets then ANB

fined and distinct

G U G@U @) P (iv)A (v) @
Colour the correct option in the box
given.

AUB =
a. {xlx€Aandx € B}

b. {xx € Aorx e B}
c. {x|x € Aandx€ B}
d. {x]x € Aandx € B}
A-B=

a. {xjx€Aandx € B}
b. {x]x € Aorx € B}
c. {xx € Aandx¢€ B}
d. {xjx € Aandx € B}
B-A=
a. {x]x eAandx € B}
b. Ix|x € Aorx € Bj
c. {x|x € Aandx€ B}
d. {x|x € Aandx € B}
(A) =
2w U
... A
AUA'=

PRy

=P
d A’

PP |

cmasmasasamA.
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L A0 e e DT eesesees
o a. U 1(; I BA = {2,4,6)\ {0,1,2.3.4)
A . A (6}
" = = ,C,C}
j\nA—_._—— 6. |fU={a,h,C,d9c’r}’A {ﬂ
W o, U b. ¢ and B = {b, d, f}, then find
A d. A’ () A’ (i) B’
C.
N U'E— ‘ (iii) (AUB)’ (n{)(/\'ﬁB)
lfﬂ) a U b. ¢ < (V) A’ U B’ VI)A M
e U™ A dU-A Sol: U= {abgcdef}
i B — A= {abc)
(v : U b. ¢ B= {b,d,r}
. U-A dU-A Qi A
L IfA AB= ¢ then A and B are
@) 5, Overlapping sets

b.. Disjoint sets  ¢.  Equal sets
4. None of these
ifA={1,2,3),B={34,5) then AN

N o
B--_-—_— [
a. {23} b. {1,3} :
c. {3 d. {1,23.4,5) 5
. 00 @O (O 0 g}
W) (@) (vi) (b) (vii) (b) (viii) (2) b s - abedef \ fabe)
(ix) () () (©) - def
y, AT (1,2, 4,6}, B -{1,2, 3, .10}, } ;i) B
then find B =U-B
@) AYB = (abcdef}\ {bdf)
. (i) ANB _ fs08)
Sel: i) (AUB)
) AUB Sol: AUB=I{a, b,c,d, f}
A= {1,24,6) (AUB) = U\ (AUB)
B= {12310} b - (abeded ) {abedh
AUB = {1,2:4,6} U {1,2.3,...10} =
= {1,2,3,.....10} :
i) ANB -
ANB = {1,2,4,6)N{1,2,3,....10}
= {1,2,4,6} | |
s IfA = {01,234}, B= {24 6 then §
find 3 Lw
Sol: SR b (iv) (AnB)j
e o &Rgg’ UVANB)
A=1012734},B= {240} AG
AB = {0,{1 23,41\ {2,4,6} (=A{f;| B)= {a,é,e} {b,d,f}
i) l—g\ff’l'}} ! (ANBY=U - (ANB)
',g . e —— ; -
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-
..“
thteratanacesr seanssnsssmeet

{4\.]1.\‘.\1.1\1"' \ {}
§ Iﬂ.l\.c.d.c.ﬂ =U
) A N
A= LA
“Habede, {a,c,b)
= fe.d.f

B = tabe,de,f)\ {b.d.f

T lace)

ANB = te,d.f} N {a,c,b)

={}

(AUBY/

=U - (AUBY

(AUB) = taec) U {b,d,f}
= a,b,e.d,f)

(AUBY = {abede,f) \ fab.cde,f)
.

(Vi)  AB

7 A\B = {a’b’c’} \ {b,dst}

=0
Sol. U={(1,2,3,4,5,6
A={23,4)
X
A'={1,5, 6)
AUA'={2,3,4) U {1, 5, 6
= {1,2,3,4,5,6)
AUA'=U
ANA'={2,3,4)n (1,5, 6)

8. If A is the set of factors of 15

B is the set of prime numbes less than

10 then what is (AUB)UC
Sol: A= {1,3,5,15}
B =1{1,3,5,7,0)
C=1{2,4,6,8)
AUB = {1,3,5,15}U(1,3,5,7,9}
= {1,3,5,7,9,15} '
(AUB)UC=({1,3,5,7,9,1 5}
U= {2,4,6,8)
(AUB)UC={ 1,2,3,4,5,6,7,8,9,15}

9. If ={a,b,c,e, f}, A={a,b,c}) andB =
: {c, d, e{ then draw Venn diagrams of

G A (i) B

0O DD DD d ol Py SO d

IfU=11,23, 4 5,6}, A = {2,3,4)
then show that AUA'={J and AN A’

1,2,3,4,5,6}, {2,3,4)

et "‘

t

PP -
S'S>soteoretereorseose

oot LTI IOIOIT0

>

Sol.

(i)

(iii)

(i)

A':{],

'.,\ w B (iv)

AB (Vi)

(d, e f}

\

e, A’Q'

Anp hat

B\A

b, Cy d’ 2 r} /{a’ b’ C}

\‘ (!

i

’

\

SO0 > e

—
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\ & sttt tebtstotasatorases
b aw"',""'".' ) "“‘0““30“..-0““04ﬂ“““ ] ZEe10.
\ = {a, b} (v)  Inany rational number q may be Z
Ans, —T |
() [Truc| (i) | False (iii) | True
(iv) | True | ) False | _ rs
2. Show the following rational numbe
on a number line.
1 3 I3 3.1.
1 —'2—' — =) ,_’
) B-A:{c’d’c}/{a’b'c} (l) 2, 2 ’ 5’2 2 2
(\1) - {d, C} . X 0 ; 22. 3%
o A 2 A
U A——t ottt
— 5 -4 -3.22-1 0 12 3 4 5
. i 7 3,3
e '(“) _5 ,_-_’)2 > 4
= Ans . :
— 4 L3 = 2=
10. Find whether the sets P and Q are rf—ipe . . .F '.r ot ".; >
overlapping sets or disjoint sets: yw 4 3 2 10 ©5
sol: g’;ﬁ’i’i”l“gﬁﬁ'”'zz‘} b EXERCISE 2.2
common numbers = 1, 3 A
P,Q are overlapping sets 1 ) 1 + 2
(i 28
SO[: Sol' l L 2
P={7,14,21,28,35,42,49} ooty
Q=[11,22,33,44} : Ix4 5x1 _ 4+5
P and Q are disjoint ’ T 8 T8
.\ ————— . 9 ‘l A
=—=1- Ans
Unit 2 ‘ § 8
RATIONAL NUMBERS : (ii) 3% +2
| EXERCISE 2.1 ' |
1. Read the following statements ¢ Sol: 3Z +2
carefully and write 'T' in front of ,
true statement and 'F' in front of | Slane 13+4x2 _13+8 21
false statement. ' 4 4 4
( 1
()  Any integer can be expressed in the E = 51 Ans
P :
fon of - where E q# 0. !(iii) % 4+ (_ %]
(i)  Zero is not a rational nw.nber. ' 3 :
(iii)  All integers are rational numbers.  Sol: 1'% (— E]
(iv) Rational numbers may be positive or
negative. :!

P
PSS IVICV OOV S
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(iv)

Sol:

)
Sol:

(Vi)
Sol:

(vii)

Sol:

*>tae QUL
7
e Middle (undr M
tereras aa SO0 800004 A.OO‘ 8..-
3 =2+
«e2 .3 Sol: x+)’"2 ? 6
7 2 4 o4 7
3N2-5x7_6_35 ..2-I~8§:= 9
14 Y } 76
= - 22 - _'_ =2+ '9’
14 = "%y Ans. 9)+(]x76)_]8+76=94
5 (3 @xA—= )
i~ () = S0
é 3 1 2 .9_4- = 10‘;— Ans'
6 (3 . ~ 9 [ )
5 3 - 62— inches ta
=5*3 §(x) Nadeem WS
_ 3x4+3x3 2049  Sol:
. 24 = _ .
o . 24 size in June = ‘62 g inches
=== 1= Aps, ‘ 1
24 2 ! : Ly
 § size in September = 5 8 incheg
Find the additivie inverse of 1/7 * § I 1
' ¢ . _B3— - 62—
Addictive inverse of 1/7 : Difference 1n s1Z€ = 63 8 8
et Y 4 _ 505 _ 497
l L
i i M-%—]chns
. )
Find the additive inverse of -10  § : .
Additive inverse of =10 3 EXERCISE 2.

-10+10=0
=10 Ans.

| |
Find the sum of 45 andl'i

4= 1-
8 2

8 25 2.2
83
= +2

33+12 _4_5 5
8 3 —58Ans

4
Evaluate x+y if x = 2 and y= 85

P

Find the additive and multiplicatiy,
inverse of the following:

_5 .
1.

._.5 X 5 =

I ot l
Multiplicative inverse 3 Ans,
5 = Additive inverse
Ll

I
Multiplicative inverse
1123 "oyl ARy
=-— = = 1.

TR TR T
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h  Tice Math-7
¢ . Shhratataiaia
W"F”t".'" - _ . N ~11 ““‘.“giuw“‘.“““““.".““m sosesosstssss
4 iplication inverge = —- . i
Multip 93 _21x19 =3_9_2 :92 Ans.
-3 Ans. T Additive Inverse 3
(v) (-3)x —
i 17
i 13 P
i . Sol:  (-3) x 17
- T X— =
=15 4 - -2
5 4 ' 17
1,4_ Ans. 5 = Additive inverse 4 -2 =2
) 200 =2, 2
¥ 105 200 gSol: . ==+ 7
=—— XxT==1
200 © 105 , (D+2) _ =4 _ |2 Ans.
e | 303
iplication —— ‘
M‘ﬂtlp 105 Ans, !( . 1] L 3
105 WoU2)7 e
_.-2—-66- Additive inverse : 21 ;6
Exl._.l Sol: (‘5 16
M 7 6 : 1 16 S
1 -é = —'5 X 3 = 3
e 9 2
2 x 7 ~AZ Ans.
. 3 8 |
), 71 vi)) (-5 5
So: 3% g~ 10
lxl__z_An Sol: (-5)7'9_
=333 S R Nl
| ﬁ} . 1 1 10 2
(i) 3 = —4% Ans
-3 4
. som—— K ass .
Sol: = (vii) 15+ 75
14 2
=2§7 =-§-=4_3‘ Ans. Sol: 1-3— = "‘l"‘
y SIRERET0
4 8 1 g 10
iy 2— x 3— o i e
(iii) 5 gn g T Sy ]
21 19
Sol: 2£x3i=—lx— =8x2=16Ans
8 57584 NS
- g mon Sk ok ‘i_ 0080900010000 PI 0001500000091 000000010000 00
:?\; — e ————————
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A

\‘I"“Nic}\ ; >taeq, :
. hddl ) sosssas M '
et ¢ Quide 94 POPE ay 7
e tetenana, p asssats? h
() :q X l_‘l Srarasarassssiatarasarpserst .—-2)(4+l())(l \\\)
7 \) 4 - 20 |
Sol; 0 14 -840 _ —
7 X -(; = 20 20
=10 Ans, l RHS
i o) 3 l
1 EXERICSE 2.4 —3+') *s
* Name the py . 5 4
the follows Property used in each of | 44+3%5
OWing and also verify them. e :
0] L] +5=5 4 1 - 2
4 4 ;s_ili -76
= 2
SOI: LHS —l. +5 4 20
Ix14+4x5 1420 » 5+§6
R L peaerxd 47 ML
_2_ ) B s ek
4 "4 . ‘ So, LHS =RHS  then
4 2 3
1 I 2 _':3_ l ===t — l
RHS 5+ — « -g+[4+5J"(5 4) %3
_ Sx4+1x1 204 Associative property W.r.t. addition
4 T4 3,4 4.3
r — - == X —
_20 ] A A
- : 3 ad a3
S . $Sol: —xZ7 =X~
o LHS = RHS ' 6 7 7 6
| 1 . LHS
2 +50= 5+ 1 , 4 3x4 E
Commutative property. T 6x7 42
. 2 (3 1 2 = i 2
—_—— —_——_— e | - — —_ —_ )
(i) 5+(4 SJ_( 5+4)+5 » 57
> )
2 (3 1 2 '3 1 » 4x3 12
Sol: ‘x| Tto|=lrEi_l4= = s
0 5+(4 5) (5+4J+5 : T
v 31 ’ 2
LHS -5t Z+§ = ‘7'
3x5+1x4 ' | |
Wt XN L] ‘ LHS =
—~ RHS
_15+4 19 ' So,zxi:ixE
T 50 ' i B AT
) 4 " [ Commutative property multiplication.
=-Z4— ; 4, G 20 43 Wr ot g Mt 14
57 20 Y e (___J:_ d 842
AR VR S Tt e R X
!

9 G400 0500 0t0tatatd e
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71{;‘:!(“0_ Gu l:t:if“ " 95 Math-7
“M‘:"""'.“ 3 ; - v‘-:-A““..“““....““““““““““““M““
- X ;—7 =7x-s_-__.x_. L 3 l+_3__}_x_l_+___x._
5““ 7" 77 !(V‘) EXZ 5)78 2 g 5
LHS  Sol.
s i LHS RHS
: 1 3 3
. ‘ 3 (1 3) 3.1 242
35 35 5 p
5 _2% P2
7 %35 245 ! §
N
RHS | 8§10
-_xT "5 X T ‘ - e
7°5 1 1 . 80
g 6 : RHS
% 49 : 2. 13
3 ¥ b3, 12,2
gx7-6X5 56-30 26 . § 278" 5
245 245 245 . 39
- b B ey + ——
) (4.3) 2,4 2 3 6 "
“x377)=7%577%7 3x5+2x9
Distributive property of multiplication | gO 1
over subtraction. | A 15+18 _ 33
| [Exi] _(sz 3 ’ 305375
W 3°3 8/ 3 5)"8 Lt
Sol . 3 (1+3J 3 |+3x3
: EEAL Boal ok ek
: LHS RHS § g *l2 5 g§ 2 8 5
| 7 3 1 2) 3 ! Distributive property of multiplication
= X (EXE] = (EX—S“) X3 § over subtraction.
’ 2. Find each sum or difference
16 ' v
==X = ‘=i ¢ X 4x
3 40 K, 20 §(0) o gty
RHS H ‘
15203 oot e I
Rt oA $ Sol: %,
[3 5) e SN
$ X+4x 35X
2003 : St Ty
= B i Sy
.
lx.!.___._l_ i»(“) _2—6')'+8§)’
o 420 ¢ ]
3 A $ 5
V(23] {Le3) 2 $So: —2—y+80y
SX(BXbJ_(SXSJX8 i 8
Commutative property w.r.t.¢ =—2ly+ 8—5-y
§ 6 8

AAAAAA
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N, \".
Clasal, 2. Cree '
-.?:ff:l’::’i’:. Guide 9.9. - ....oo“.oooﬂ“" “"M‘A"f"‘h{) 4
) 1 I L 2 ’l \ |
..(‘ \ * ‘\\ .\. S ’ s
: -243
, 4 "\ 4+ 3 fu),-\ 2 }_
24 So, "5 " 5
52y 4117y
B e—————— 7 3
- Giy *77075
169y g i i
94 Sol:
— ‘\ y [ . ’
24" 1 TR
_ 5 1 ' 35,-21
(lll) 1—‘- -2.. 1 = 55
m m :
2 9 : 35> -21
Sol: — .2 7 3
m m ﬁ > 'g
12x1-1 :
el VS 510
m (iv) 777
1229 3 } 6’12
= —_— = ’SOI:
m m _ { 5 19
EXERCISE 2.5 . ‘ 6’ 12
1. Compare the following rational | 5x2,10x1
numbers by substituting <, > or = =T 2
. 3 5 10,10
N 5, -
7 ° 2l ’ 12
. ghan 3 : 1010
Sol: 7 s _)—] ] e
y. s 12 12
L3 5 B 5_10
7.2l 31 ! 6 12
_ 3x3>5xl - 1 6 8
21 (A RS
9>5 : w 4 Sol:
= / ¢
21 ; ; ‘//‘/ 1} 6 8
9 5 | : o%4s
—_—— > —
21~ 21 5? . 6x15,8x7
3.5 ‘ 105
R 4
7 21 ' 90, 56
b 2 3 : 90 > 50
ii g >
Sol: A b
£ 2. Arrange the following rational
s numbers in descrnding order:
0t 000000000001000000000008000I0sSITIIotetose 5080 csote?
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.
| i Mld‘"::f;mdf ‘‘‘‘‘‘‘‘‘‘‘ 97 Math-7
'l‘ﬂ""".":. 7 2 SRS st atarataratasasas M“Muo‘““"“."‘““.‘
?’11|i,—56.4§ Sol: 1
C 2. Choose the correct answe.
4
f"‘: | 3 __5_7_ 43 (i)  Whatis —3— divided by ’g?
1507060 4 | 0"
43 3 2 @ 5 ®) 3
35 P65 | 27
]0x4,6x3,—37x5,6x 22 ‘ (c)' - (d) '5"6

_ 40,18 ,-185,132 (ii) The multiplicative inverse of n is

_ Qﬁ‘_‘&‘.“:‘ﬁ : @ 4 b) -4
= 30 o |
P ‘ © -7 d 0
P — Lt 5= Ans.
57 3’5" 6 13 7
srrange the following rational (iii) Find—---ia.Write it in simplest form.
¥ pumbers in descending order: 22 3
G R bowo— o B3
3-—a —5-_, P
330725 73" s 'g i
7 .7 5 7 © = @@ 75
Sol: 3?’325’ 53’_5§ 18 20 & ac
31 82 20 47 (iv) For any three rational numbers ="y

p—— —_— —
— — - —

and r we have . This shows which propcrty

1% 75,24 x 82,200 %20 - 120 x 47
B tion

600

=325, 1968, 4000, - 5640

7 7
! 3—, =30 F 52 Ans.

(a) Associative property W.r.t multiplica

(b) Distributive property of multiplication
over subtraction.

' (¢)  Distributive property of addition over

PP Py

=33 ;
87 25 12 3 multiplication.
REVIEW EXERCISE 2 (d) Associative property W.r.t addmon
i, Fillin the blanks $3. - Solve the following
~1 AR
() The additive inverse of—z— is (s () et
| : Sol:
Sol: — 4743
X 5
(i) Allinteges are numbers. : £+ 3% 5
Sol: Rational : # 3
(iif) 0 has reciprocal. : A
Sol: mo- { . 28“5: 43
) _____is the reciprocal of itself. i 32 o2
> > IR s
)’z . e et . .

PO ——

I = raksn -




f\‘.
(:i:u‘ﬁl'(‘ 5“("!“(‘ Guide Mﬂl ;.
““‘...““.'..&‘QD“OA“MM“QQ0000‘.290‘000“.“0.0“.“‘“...‘““““““““ '1.7
Wk N n 40 1 e "
35 A0S =20 700,,70° 10
m 128 6 4 1 3
S =7.7: 75 10
N 4
Sol: 1-.°% y4 - _:1—--'—,—,2
Son Ascending order = "o 57 7" 7
‘—‘ﬁ-i ’ ssion iX X = S .
T 5. Evaluate each eXpe 150y
55 { - 2E and 7= 7
_38-30 58 0 x+y @ 7Y
55 55 Giy zx (@) y-e
3 L
= 1= A ! Sol:
55 fAms. i) xty
1 6 13 8 |
(m 4— x — g o e o J |
AR A TARST |
] |
Sol: 4 x — | 8 3l |
8§ 1 ¢ 15 15 |
_33 6 g8+31 39 '
=3 X7 = 25
= 15 15
3 3 9 1 9 9
“xZ = Zm=2- ' -2— |
p— 2 2 Ans. ‘ = ZE = 215 ,
. 1 3 e ,
(iv) -=+ = $(i) z+y
2 18 o ll N ]
] 3 = 1z 1<
Sol: —> + % ! 15" 15
- ¢ 131
IR RS P ' 15 15
i ' s 2 1l
4. Arrange the following rational =—=2—
numbers in ascending and desending ¢ 15 l
order. o (i) z-=x
16 3 4 it LS
577 10”7 ! 15413 15
ot A Jn, £ 8 7 md I
0% Tsrqr 100 7., 3 IS
~14,42,- 21,40 0 BRIk
70 R S R GOl e B
14 42 21 40 : VST 5L 15 A5
70° 70° 70’ 70 ' _ 2 3
) ' I 4
Descending order 1 ———
cotasssssne PPPRPRPP 2 5059000000000V SIDIVIGIGIGIGIOS 009000309 0¢SOS sosel
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it { 20

4 DECIMALS z
EXERCISE 3.1 N

(‘oﬂ"cr‘ the following decimals into
. atiol"'l numbers and also simplify
where possible.

5
- = 1,6606606 oo hnt
- 3 ,f ) Wyﬂm,ng/"y
on=Recurring  n» ],}m

9
0.45 iy =
il 59 3
45= 700 T 20 9
sob ’ 00 2 Sol: =
074 - )
(i 774 387 1.28571
o 0777 1000 500 79 |
i 12 7
(i 1250 ;’_é 20
solt 72570~ 5 14
) 1.57711 60
( 15771 56
gl: 157717 71000 40
. 19214 3.
12914 9607 10
“ 100 50 ‘ H Vi
,  Which of the following rational 3
“  pumbers are non-terminating and | 9
recurring decimals?(Divide upto five 7= 1.28571
decimal places) * Non-Recurring
3 ¢ 16
03 (i) &
3 ! 16
Sol: 3 Sol: 3
1.66666 2.66
355 I 6516 I
3 #12
20 } 40
18 $ 36
20 i
4 40
18 36
20 e
18 .
- 20 B A avetdeenprisaste L b bbb o P
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Classic Middle Guide

.“‘0“““..“... 1 00 0“‘.““.‘“..[..";-.“. ““
. """‘0‘¢0000un¢noo‘000007u0000°“.'.“ f ‘"C 0 ﬂ\Vlng - |
6 3 which of & n-termin, ¢ |
2066000 ."inallng atip, |
0 tert thg division methgq R ?
M -Recurring decimals (using Unt, |
- 8 5 poinls)?
™3 17
8 57 ® 3
Sol: IR . Sol: .1_7_-_—5,66666 ..... Non-recurring
4.38461 3
13)s7 ] ) 135
5 72
. 135
S0 Sol: ——
39 1
110 i .
104 e
60 724135
52 I 7
0 ’ 630
78 I . 576
20 ; 540
13 ' 504
= | 360
360
57 ! ——
13 =4.38461 4 } 135 QS
Non-Terminating "2~ 1t w\w.'fﬁ 3 = Terminating
342
: 63
ST (@)« 7
342 ¢ 63
Sol: 169  Sol: ﬁ
2.02360 ‘
; $ 572727 ...
169)342 |
)34, )63 |
3_3L \ t
/400 ' 35
/ 339 i 80
| 7610 | Ll
| 507 | 30
11030 : 22
1014~ ) 80
160 71
2 _ i 30
160 =2.02360 | o 29
Non-Terminating N ; 80
(2 22 22 22 22 . e ld a2 22 2 % =2 S P peapy BB D _ PR s e Jpn

Man,

e
3

\
3

7
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¥ 1o Midl"“ Guide 10
§ TN N
‘17“. ...”0 LE Y P N Py
l"‘"""" 77 QQQQM“““““...1
r

U

gol:
(i)
ol:
(i)
(iv)
(v)

Sol:

(i)

Sol:
(ii)
Sol:

(iii)
Sol:

(iv)
Sol:

V)

Sol:
(vi)  72.1688 (upto 3 decimal places)

(LR Y p y

| -

l\ton_'l‘cnmnaung

which .Of the following are
rerminating and non-terminating
decimals? (without using divisio%
nlcthod)' l

2

Terminating

= Terminating
Non-Terminating

Terminating

= Terminating

. EXERCISE 3.2
Round off the following numbers
upto the decimal values mentioned
for each question.

5.277 (upto 2 decimal places)
5.277=15.28

262.5332 (upto 3 decimal places)
262.5332
262.5332 = 262.533

1.35
1355=14

0.223
0.223
0.223 =0.22

0.917 (upto 2 decimal places)
0917
0917=10.92

Ble Blo SIH Rlee 2\ S\ =\ o)

1

Ol od 0000000060000

Sol:
(vii)
Sol:

(viii)

Sol:

S~
s
S *

y (ii)
tiii)

(iv)

(v)

0]

Sol:
E (ii)
Sol:

1 (iii)

Sol:

“0000“00“““““““““

Math-7

u“oou“uua“

72.1688
72.1688 = 72.169
6.66 to the nearest lenth

6.66=0.7
53.64
53.64=53.6

Review Exercise 3
Colour the correct answer:
The ratio between the cirum-
of a circle and its radius is a:
(a) terminating decimal
(b) non-terminating rect
(c) non-terminating decimal
(d) terminating-recurring decimal
5.36, after rounding off to nearest
tenth will become

ference

rring decimal

(a) 5.37 (b) 5.46

(c) 54 (d) 5.47

0.2727 when round off to thousandth
becomes

(a) 02728 (b) 0273 ¥

(c) 0.282 (d) .0.3000

If the rod is cut as shown, how many
inches long will each picce be?

(a) 0.025 ft (b) 1.875
(c) 52f (d) 7.51t

1
Which decimal is equivalent to 100 ?
(a) 0.001 (b) 0.01 v
(c) 0.1 " (d) -0.1 :

Convert the following decimals into
rational numbers and simplify:

0.63
63

—

0.63 = 100

4.26
213

R

50

i T
26= 700 ~

148.47
14847

PN

148.47= — o

Using long division, separate the
terminating and non-terminating

2d O8O0 Py

[Py

<

<>
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(‘la bsi 1
04""’([’:;("""“‘ 10? ‘.“‘.“‘aﬂv‘ o “‘OQ“A"Q% :
('(‘(“ Ma |:.‘..““0..u.oao tarasstsssispinssiet
divia ; 185
Paces) (divide upto & decimal o
O 183
38 Sol: T“
Sol; Sq 166666 —
KN [11)185 |
0.71428 111
3s)250 740
245 666
s e
50 740
35 666_
150 il
140 666 _
100 740
70
185
— 66
. 300 ¢ 1 1666
280 Non-recurring
20 3 69
25 v) 3
35 ~ 0.71428 Non-terminating I 60
o 135 i Sol: 7
37 3.45
L 1~37> H 20)69 |
3 j 60
3.64864 90
37) 135 | ¢ 80
11 i 100
240 ' 100
222 6 :
s : 5o =345 Recurring
180 , -
148 ‘ 2
320 e
296 :
240 ! Sol: 7_1
222 438142
180 : 5
148 | _|j92 l
32 84
135 20
37 = Non-recurring { 63
: 170



T
” A 04 2x2x2x3
;? 36 2x2x3X 3
Y 104 —
90 — = Non-T erminating
8
84
60 i) o3
92 _ 438142 84
20 ' Sol: 755
Non-recurring ]
WithOUt division, using the rule .81 — 2_{2,"31—-
L ceparate the terminating and 105 3x5%7T
_terminating decimals: 12 .
not = — Terminating
47
U " =
4T _ o 93
ol 40 . 21
1175 Sol: g3
30)47 | 27 _3x3x3
0 9 ;
70 - — Non-Terminating
40 31
300 37
230 T
%gg Sol: %71' Non-Tenninating '
47 4
2. -~1.175 Terminating V) 7
49
. Eﬂ Solt. =ot
(1) Y3 71
Tx7
Sol: L =9 =~ Non-Terminating
o 36
21
2.8888 vi) o
36j Lot 21 3x7 1
—72—0 <S°l: g3_=3x3x7 3
;ég Non-Terminating ‘
— 5.  Divide the following fractions and
320 determine the non- termi- nating and
288 non-terminating recurring decimal,
320 (carry out division upto 5 decimal
%§§_ places)
320
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Mq
. . - *tay 4
L. I Y
. 3 o
(i) 3 (v 7
3 - 7
S e : il
ol - SOI. 7
3 . ﬁ0’|0,28571
5 = 0.42857Non-’I‘cm1inming ‘ 14
} R
. |
(i) v ! 60
27 56
| 40
Sol: —
T 35
0.037007 750
27100 | 4
89 10
190 ‘ il
189 3
100 ‘ 2
189 ;,——'0.28571.....
1 ‘ Non-Terminating
' B b 1
Non-T t ¢ il
lon erminating § ) 5
57 =0.37007..... Sol: 1_,
, ¢ p 81
(iii) % 0.012345
N _2_ ) L 81) 100 |
% B 81
0.076919 b 190
162
l3i 100 l : 280
91 : 243
90 » 370
78. : 324
120 $ 460
117 405
30 ¢ 55
17 | ‘
130 | g =0.012345,.,
117 Sy
—_ Non-Terminating
130 6. Round off the following to the
2 = 0.076919mmmn desired decimal place as mentioned
26 f against each question.
Non-Terminating 8 572 Sol: 572

P e
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sol:

(i)

Sol:

(i)

| Sol:

(iv)

Sol:

Sol:

: (vi)
Sol:

)
(i)

Sol:

(i)
(i)

Sol:

Write the base and ey
of the following:
5

2
Base Exponent
i 5

-5 7

-5’

-5 7

Gl

8
325

ponent in each

(100)"°
100 10

inj_n
( 32

125
” -12

(115)%

+115 20

Find the value in each of the
following:
24 Sol:
o)

= =3-x3x-3x -3x -3 =-343
(15 Sol: =15x15=225
Simplify

3% x 32

2y 32

= 3242 _ 34

24 =2x2x2x2=16

et N R X Bt
0,092 Sol:  0.092 0.0
gm0 Sokazg AW
" 479=43 Sol:
K 13.9345 Sol: 139345
i) 13.935 = 1.4 Ans, 1
| WY
it 4
il EXPONENTS $ (iii)
EXERCISE 4.1 Sol:

BB

(iv)

Sol:

v)

Sol:

$ (vi)
 Sol:

'» (Vii)
 Sol:

(viii)
Sol:

. Math-7
4= 3x3x3%3 = 81 o
54 x 56
5-4)(56
=5'4+()
=52
=5x%x5=25Ans.
B,

7 X 7 X 7
(3)2 Z -5 -2- 7 _(-2_]24»7-5
7) *\7) *{7) 1
_(z‘_z 2.2 2

7) 71 X7 %1%
_ 16

S
[ ~\3

2 ><33
\7)

4
= [@] =2 =16 Ans.
40 '

32 x g

37 x 82 = (24"

=3x3x8x8

=9 x 64 =576 Ans.

(-4)’ x (-5)]

(-4)’ x (-5

=20°

6 x 67

=6"x6

=6**7=(6)"" Ans.

Express the area of each figure as a
monomial

s g3, 3fg2

508 b b o8 <
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C Immc ;\.f‘::idlv Guide 1 OE.. “...0000‘000000“0000““““““ ‘A.'"(l,‘\?
\\(\l g “Q.“‘.‘.‘.“....“..““..“000. ‘ \
“Slx“:%l 342 (i ) g—— i
V v 5
(i) p 1:' [- Ans, 8
n a h ) a h 13
bl b SO':
(@“b)” 85
=a'pl=q b? | 5 .
5" Express the value of cach solid v) 9-5- , E
M 4K, 43, 413 i
Sol: (4]\3) 6 ,
. =433 = 64K’  Sol: 3’5’ : :
(i) “3! Xy 5 5.3
Sol: )‘y xyx‘y 1 =(_6_ﬁ=(2)
=xy’ x yXx'y : Z
)‘l+3 34141 } ;
—X4)S ' 1 ) ("8)
e V) T
(iii)  2n, 4n’ , : ( 3)
Sol:  (2n)%n x 4} ; (_3) 3 |
3 ‘
= 4n’n x 4n° ; Sol (_,) * () t
= 16n2+37: : i
=16n"n ' ‘ B ( §_J |
EXERCISE 4.2 . : 3
1. Simplify the following: { (I 5)2 {
8. ’ ' b (Vii) 7 i
(i) 3_ -.)- -S, L/\' __,.S') ' - ( ) ,{
o Pl in (15) (15) ,.7 (IS) :
W8 8_5./ ‘ :
3 . $ rotss
) 1} (.Vlll) (_2)|0
47 g 10 10
(if) _3 .  Sol: ( 5)’0 = -510 5 10 (~_5] |
- A | - S ) 2 |
47 o By 42 Thearea of rectangle is ..... ] 1
Sol: = =47 = 4* =256 y Sol: Am,_ 24” g Fi )W V|
4 o -J : onéside # 3x’y’ 4 I
= f 4y { |
&L o L f‘f) »Lcng)‘-24x5y (e iy ‘) jh‘fl:‘
(ii(i) (-7)5 ut '/' _7) 1C-7- ) ’ 74 4 -ﬂf uj 3’ ? ,
10 RFY = oy Ty : §13
DY 1055 _ s $ Y TLLEENFSE R, |
ok -7)° P U ¥ 3., The area of the trmnélc .Js 100a2b
i : square units. Fm(_l the height of ..
 Sol:, ~Area=1002"b—
Hexght 100a3b goa

4
S
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, Guide
"‘{i i ““-.Ab(\ )
gt :,,o oot el
"’ ~ (K / ‘7
100\ <t '/ n:
20 M‘}
o (0013 = rom
EXERCISE 4.3
plnf\ the followoing®
) (.‘ ) Sol: (34) =1
{ 41 x( 00)
i 51 X (200)
_51 X 1=

-3

)

51

7-3
— -2——3
the following:

S,mpllfy ‘
(3“)
sol: (34)

i Ga |

)
4x2 _ 38

3
(B

Math-7

samant
4 -0“.0«0000...0000‘0‘“.‘“.‘.‘

—(3 2+5 [,; 10
“lg) |8
-[4\-5-2
A
—(4\’5 g (4)'5'2
N Y
~ 7 4
L - "_7
oL
::(vm) +—5')
: - L 4 14
o ]
. —(——5— 316
‘(x) T
r 6 )
o (]G 6T
ol: i’ T = T = T
, EXERCISE 4.4
Slmpllf):
(i) (—4) Sol: (-4)' =4*=256
'(ii) ('3)
ol (-3)° =-3x ~3x~3x =3x~ _3=-243
e ot g
(1) 27 x4~
)
g o2yt 2% x674
oL ST P Ik
) 27" x4 x—2X4-7
22 %22 x 4°
_———————64
22)(22)(23)(23
K 24><34
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(:i?:fi(“i,.':’.‘i’::iiﬂd:‘ 108 cost? “““M““mﬂﬁ Q“l ;\‘f
ﬂ? L8y : RS basatatatatatsintstatsssinsadsd N ‘.:
SR N o (1) e’
3 VIR i) 13 |
(7™ 1 |
(iv) Z) X 49 . =0 3 3
2 ( I) +(-2) |
! [ Sol: Sy ‘
7 -3 ‘} 4 |
SO': [-‘;J X 49 6 1
, : 1 46 4096 |
R LI B2 B 4 =" ;= -8 =-517 |
— _,T‘.;‘ X — = 3 3 - L — _ 23 |
7 - : -2’
- = - . l
S Liy 27+
. ' Ll Sx2 =-32x2=_
- fso (2= =72 S
it ! 27 (-3)° %47 x5
L —_———__—-________——-
SOl 4x3° 4x3° ;;(") §x9x 6> x (5"
ol: ‘ . ,
f |
4x3-2  22x3 S0l g ox 62 x (=5)* N
-8 @ ) x35x23x 2350 24
° = 3 :» 3432 x22x37x-5" =
T~ -t 16 i  REVIEW EXERCISE 4
=6 ( 0 t1. Read the following statements ang
(vi) (i) X -—4) H encircle 'T' for a true statement ang
3 e ‘ 'F' for a false statement.
1}
e 3 is 3 TIF
-6 s 0 -6 g (1) In 2°, base 1s 3. .
Sol: (;) X %4) = (—3—) X 1 y (11) Ix; (-5)33exp%nent is 2. :g;
\ i) 2°x27°=2
' '(' ! 42+ 4=43 T/F
47 56 15625 | LAl i '
AIPTL S, Py a _ _?2m
576 IO ARERG02 T et T/F
36 74 ! Ans. (i) False (i) False (iii) False
(vii) 3 ! (iv) False (v) False
(=7)° x(-3) £2.  Fillin the blanks:
36 574 146 (-50)% has base
Sol - =30x7x77x3%  $G) @)=
(-7) % (3" (i) a° =
- 3()-4 X 74'3 = 32 X 7‘| i (iv) 2-3 =
=9.x=7=-63 fv)  2%x32=
= 000ttt OiOlDINICISICISCIVICISCITICICICISISICIVITISISICISICISISISS o soset
BT 7 , =
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®ta,
Shas
TRratt1ntstciatatcisisisrsssrsisdatataia

N 50 | ()
) in
ST | © 3 @ 7
| ( Colour the correct aNswey: Ans,
I :

A I(—Z)Zlm‘——__a) 0 | () | G | (b | (i) | @
i@ - ) =R (iv) | (b dy | (vi) | (@
(C) 64 @) -6 “) (b) (V) (d) | (vi)

© (vii) | (d) | (viii) | (c) '
i 477 — 4. Write base, exponant and the value in
| cach, )
Sol: base 2,  exponent=35
© -12 @ -1 value =25 = 32 Ans.
) 12 (i) (-3)*
il i Sol: base=-3  Exponent=4
(a) 1 ®) o value =-3*==81
I 5. Simplify
© 2 (@) iy M (-5 x(-5)
C(=6)3 % (=52
i Write ‘314ccccusing exponents, ok (=(5_)5)§+(2 )
(a) 347 (b) 4304 ; =(_5)5
() . (4c) (d) 4c i (5= -3125 Ans.
0) £x4=" i V(12
(@) 16’ (b) & { @ (5) * (5)
(c) 4% (d) 4 . § %
| 2 %2’ f RLEE (5)
I (v) What is the value of )2 x2_3 ? iSOI: (5) + [2) = (%]2
@2 O 2 | e
S B
c) 1 (d) > 2
) 2
(i) Which of the following =(l) =lAns.
expression represents the volume 2 4
of the cube? : 3V (4
@ 158 (b)) 25 i (ZJ x [3
© 255 (@ 125¢ i 3¢ (4 (3) . (3)
(viii) Find the ratio of the volume of tSOl: (Z) X (:] =(Z) + (Z]
the cylinder to the volume of the § A .
sphere. i ) 3 —_-:(i) =1
1 | ! 4 4
(a) ) (b) ! (iv) (1000)° x 500
{ Sol: (1000)° x 500 =1x 500 = 500 e
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Nok - (=6)! = (-¢)’ { (iv) (1.25)2 = 15625 |
2 L)

=2 o 2 are and tell wh |
O " =(-06) 3. Do not take square. Cthe
‘*\"(.\“ the squm’c of following numhcrs Wi]I
6° =3¢ i be even Or odd. |
(Vi) [(_ 5)! ]‘ (i) 34 Ans c\(;zﬂ
(iiy 751 Ans e |
X Ans. cven |
Sol: JF dxs (iii) 1060 .
yol [(- 5) ] = (-5) x5 | ) 32507 Ans. odd f
20 _ <20 : EXERCISE 5.2
= =§Y = 5 b 1. Find the square root Of the rO"OWing
wiy Fx5xT ti) 3481
15 % 49 §Sol: |48l =7 “
Sol: 32 x5 x7? _ 37 x5 x7° : 5[3481
15x 49 IxS5x 72 ‘ 25
=271y 531 4 432 : 109] 981
’2‘5 . : 081
=3 x5 x7= 525 Ans. : J3481 =59 Ans.
(Sviii) (29" W (-3 vy i) 2116
ol: (=2viw) (-3 t Qol: =9
A AL §Sol: 42116 =
(2v W) (-3 vw 4 46 ,
=22V W (=322 wh) 412116 s
= -8 x 972 ! i’ 16 |
=-72v'w'® ‘ . 86[ 516 |
Unit 5 % J2116 =46 Ans.

(i) 15129

SQUARE ROOT OF POSITIVE  {sor i5120 =2
NUMBERS : 2

5 1115129
EXERCISE 5.1 1
Check the following numbes, whether 221751
they are perfect squares o not. 44
16, 18, 25, 33, 200 "
: 24
Ans. 106, 25 are perfect square and 18, 33, : .Zg
200 are not perfect square. S0 =23 A
2. Find squarc of the following 15129 = FPE
numbers. } (iv) 17161
()35 (i) 911 (iii) 2170 (iv) 1.25 | 169
Ans. (i) (35)%=1225 . [1716]
(i) (911)2 = 829921 Sok: ¥ ieo T 7
(iii) (2170)% = 4708900
T SN SN N ST AIN, | 5. S OLE Woron -
N i ) - ‘

."/\‘“
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! i '00"'0.“-...““‘.““00..“00.
(055 ee” 131
' 1117161
1
23 71
69
261] 261
261
i61 _ 131 Sk
TG"T 13 Ans.
31329
LAL i
(.) 841
}.13—2-9- =9
sol 841
177
1131329
1
271 213
189
3471 2429
2429
29
41841
4
49 |441
441
31329 _IZ_Z . 3
sl - 29 29Ans
6561 81 |
—_— = — =20—
6 n 1 Ans.
]
N 410—
(vi) 6

1 6561
Sol: ([410— = J—— =2
V6 16

8

161

(vii) 50.253921

81

06561

64
161
161

Sol:  =450.253921 =7

et et st ancaaaaa R b s

Lo o o o o a L o  a  a a a

4

$sessscesscssse

(ix)
Sol:

(%)
Sol:

1)

(i)

Sol:

o

1408

14169

Math-7

—

50.253921
49

12539
11264

127521

127521

J50.253921 = 7.089 Ans.

(viii) 0.0676
Sol:

J0.0676 = ?

0.026

4100676

46

4

276
276

J0.0676 =0.26 Ans.

152.7690

V152.7690 =

1

22

243

2466

12.36

152.7690,
]

52
44

876
729

14790
14790

J152.7690 =

1.2769

J12769="7

1
21

223

12.36 Ans.

1.13

1.2769
1

27
27

669

669

J1.2769 =1.13 Ans.
EXERCISE 5.3

Find the square root of the followi'ng
by factorization method:
169

Ji69

M o B T RS
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3160 22500 22500 o . |
‘‘‘‘‘‘‘‘ 13 Sol: '_‘1"2‘4 - 24
oo VI3X13=13 Ans 5 | 22500
() 1764 ?7555
Sol: Vi764 =29 T’;)'(')T)__
i_ 1764 ‘5"566—
Py 2 I,
2|88 (0| 100
2 41 ‘ 1 10 |
21
- — ,5x5x3x3x10x10
/|'7fui‘ /‘)x2x2|le } _2_2_5_99= —-——'lsxls
" \"‘x"l =2x21=42 Ans. 324
(ill) 1024 52 x32 X.IOZ 5%x3x10 t
SOI: 1“024 = ' T = |8 '
21024 , ,
~ 150 6 I
2 4 —=8—= S Ans.
- 512 | Sl
2| 256 $ (vii) 144
2_._12£ } Sol: h44 =
8 b
1D 684_ : - Al2x12 = \/(1.2)2 = 1.2 Ans.
— § (viii) 19.36
102 =J2x2x2x2x8x8 YL - |
. m = 1936 _
- .2_2 x 2% x82 i Sol: -~ d 100 ‘
2x2x8=32Ans. 4 1936 ‘
: ‘ 4 | 484 |
. 36 ey || AR |
v —_—
(iv) 25 1] 121 |
|
36 | 1l |
Sol: y35°= j 1936 [axaxiixi |
- 100 10x 10
6x 6 P
5% 5 52 ! 4x11 44 P
== ns.
6 ] ¢ 10 10
= =1§. B ¢ (ix) 10.24
' 9 s Sol 10.24 102
ol:
v) IO— i
g 4_ 1024
Sol: ‘,16 ‘/13)(; ‘: 41256
16 4 x 8__—164
—]-3-2; = 7 = 3:{ Ans 8
4 \/1024 _\/4x4x8x8
. 22500 100\ 10x10
) T3 3 |
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J ’ s 32 N‘OQ..Q.... .1‘!
0 70 T2 Ang
\ S ﬂﬁ&u
03041 = [“ -
§ Jio: \ oo =°
R T T [§7§T537f67??f5§‘
\ 100 10x 10
3x107 321
T— 10 =32.1 Ans,
EXERCISE 5.4

The area of a g

quareq : :
I 31.36m . Find the oglon s

length of its side,

sl
i(;ca = 31.36 cim? 1
(ength of side - 31.36=9
4 |3136
4| 784
141 196 '
14 1
3136 .
136 =
V31.36 100
3136 - dx4x14x14 4x14
100 U 1010% 5 L 10
. . 5.6 m? Ans. ‘
10
1. The Area of a squared filed is 4624
square kilometers. Find the length of |
its side.
Sol:
Area = 4624 m?
Length of 1 side = /4624 ‘
| : 68
04624 i
36 ‘
128 1024 :
1024
V4624 = 68 m*
3,

In a garden, 676 trees are planted in i
rows in such a way that the number
of rows equal to the number of trees !

Sol:

Sol:

S.
Sol:

(i)
Sol:

(i)
Sol:
4,

(i)
Sol:

(i)

Sol:

4
in a row. How many trees are there

)
.‘.."“.‘.QQOQ

Math-7

l.‘oo“oootonoouuu“ﬂ““

I cach row ?

V676 V267 26
“ 20 Ans,

The are
6400m
farm,

V6400 = 3080 = 80

A of a square shaped farm is
« Find the perimeter of the

Length of 1 sige = 80 m

1 Perimeter = 80 % 4 = 320 meter Ans.
Perimeter of Squarc =40 x4 =160 m

121 yd?

length of one side = VI21

=11 yds
EXERCISE 5.5

Find the squares of:
30

(30)* =30 x 30 = 900
65

65 X 65 = 4225

Find the square root of the following
by division method:

17921
7921
89
817921
64
169 1521
1521
J7921 =89
3136
4225
3136
V4225
65
6[4225
36
125] 625
625
56
5[3136
25

PP PP U P DU DU PO P W P U P P P Py

e
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(iii)

Sol:

()

Sol:

(ii)

106] 0,
O30

36 N

Va2ds 7 s AnS
§.822%
JoETms o[58
Y 10000
235
2155225
4
43 152
152
465 2325
2325
[55235 [235x235
\’10000 ~ Y100x100
235
m = 2.35 Ans.

Find square root of the following by

factorization method:
1764

17647

2 | 1764

2| 882

3441

3147

7] 49
7

1764 = \/2x 2 x3x3xTx 7
=2x3x7=42

. 4624 4624

Taaa Sol: Taaa
2 | 4624
FIEE
2 [ 1156
2] 578
17] 289
Nt

My

hoy
114 ..db‘.l““_““..“f.“.‘_‘..“. "70 '
u.n.n..‘l’)‘ va)(?/)/l?/l']
J,m"' ” \/ 2x2x19%19
4
2x2x17 ('8.— }4
L
| I5 Ans
= | — ANS.
19
(i) 7744
7744

Sol: V7744 = 1700
7744

o

3872

"

1936

e

968

e

484

S

242
121

11

7ad [2x2x2x2x2x2x1lx]]
100 1010

8
- 2x2x2x11 = i— = 8.8 Ans.

10 10 |
6. Area of a square shaped garden s
30.25m. Find its perimeter.

Rl Sl il

|

—
—_—

l

\

55
5130.25
25

105] 525
525

Area of garden = 30.25 m*

1 side of garden = 4/30.25 =5.5m

Perimeter =5.5 x4 =22 m :

} 7. Arrange 64 students of 10th class in
! rows in such a way that the number
of rows and number of students are
equal. Find the number of students in
cach row,

Sol:  Total students = 64

Number of rows = g4 = Jgx§ = 8

Number of students in 1 row = 8 Ans.

PP

b A a o b o o o

ot ottt ot
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“'pﬂ"...»ooo’moou..,.‘... 1 S
.,‘1 ) ](100“\‘ ottoc‘00¢.,“...‘ Math-7
W /1(100 = 40m (M 30 ()65
o= 40 X4 =160 m M 30 Sol, (302 = 900
() 65 Sl 65 (05) = 4225
BF ‘71]4,\\ EXPI{CI&.'I‘ 5 0.d, . 05 7(063) Pelbn

(Ob]cctwe Typc)

pill in the blanks,

Find the square root of the following:

ne

:‘]v)(’
i) 7921, (ii) - iii) 5.525
(i) (i) 1905 (iii) 5

I phe square of an eyey o 3G 7921
) pumber, ‘mber s Sol.
- i
The square of a Proper fractinm : 89
! /lhan itself. < 8?192]_
; The square of and odq Number jg 64
: P number, 165 e
) The square oot of 121 s e
C'; 625 is the perfect square of _ b
in‘- (i) an even (i) less (i) anm(w) 0
NGRS T
. Choose the correct answer, 1221 '= 89 Ans.
" 169 is the perfect square of .. 3136
] () o
(a) 9 b)) 13+ ' 4225
. 19 (d) 23 56
(il 28 is the square root of { S 553136
(@ 144 (b) 742 35
© 74v (@ 169 t 106) - 636
i) The square of any even number is « 636
(@ even v (b) odd ) g
(c) integer (d) fraction .: 0
' < 3136 _ 56
v) The symbol "\ 'is called. : 199 65 Ans.
(a) index (b)  radical v <E (iii) 5.525
(c) radicand  (d)  square root 9235
() The area of a square whose length of § Sol. 2}5'5225
one side is 8m is 4
(a) 16m? (b) 36m2
4 152
(¢) 32m? (d) 64m? v 2) 129
(i) Which of the following is a rational
number. 465) é%.?zf;
@ —sf61 LE) sy Kiroeric’
~© Y200 (d) J3gs 0
(i) Which of the following is not a JEEIE = 235 Aus.
perfect square. " . .
(a) 1802 v (b) 3613 Q.5. Find the square root of the following
2 2 by factorization method.
, O of (d) oft :
* Find the square of L T e
' . R P < 000D DISUON s > > * >0

.
‘ki

Scanned with CamScanner



Classic Middle Guide

L = TN
R N N T L P T P

(625

Laqq (D 77.44

(i) 1764, (ii)

(i) 1764
Sol.
117064
2{882
3134
31147
7149

| 7

fra

V1764 =2x2x3x3x7x7

= 2x3x7=42 Ans.
r 4625
@) Ty
Sol.

214624
212 2
21156
21578
171289
117

J4624 = \2x2x2x2x17x17
. 2x2x17
T 2x19

J1444 = J2x2x19x19

68

= gg Ans.

(iii) 77.44

Sol.
2 |77.44
2 |38.72
2 119.36
2 19.68
21484

Ol DD sdddddodotddodted

§ Q.6.

Sol.

1] 121
|11

J7744 = \/2'[2727'27’272-111 11

=2X2X2x1]

J774d =88, J77.44 = 8.8 Ans.

Area of a square shaped garden jg
30.25 mZ. Find its perimeter.
Arca = 30.25 25m?

One side of square = ¥30.25 =5.5m

Perimeter of squarc = 55x4

= 22m Ans.
Arrange 64 students of 10th class ip
rows in such a way that the numbers
of rows and number of students are

equal. Find the number of students in

each row?
Total number of students = 64

=9

Number of students in each row =
J64 = 8 students.

. Area of a squre field is 1600 m2. How

Q.8
' much long wire is required for its
boundries?
Sol.  Area of square field = 1600m2
: One side of square field
} - = /1600 =40m
{ Wire required for boundry
" =400 x 4 = 160m
t Unit 6

4

1.

$ ()
Sol:

. DIRECT AND INVERSE VARIATION

. EXERCISE 6.1 _
Find "x" in the following
proportions.

S5:x =15:60
S5:x=15:60
15x5=5%60
15x =300

P S0P VIV IVIOIDICIVIVIVISIN?
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‘1) 7 4= l5 ' X :..‘.‘.‘0‘0‘0‘.00‘0.‘0‘.00.00‘00400“‘4
h 'x =14 5 spends R, 16000, Find the ratio in
X ) ix15 | rupees of
™= 1 : (1 his income to expenditue
13 Gi) b e
B E’:__ < 1S savings to his earnings
X% 7 Sol: Jamil's carning = Rs 18000
y=2 X 15=130 Jamil's expenditure = Rs 16000
12:X= 8:14 Jamil's saving = Rs. 18000 - Rs16000
i 12:.\.=3;|4 = Rs. 2000
S gxx=12% 14 Income = expenditure = 18000 16000
12 % ]4 ‘ b =18:16
= =21 =9:8
- saving = earning = 2000 : 18000
) x;3-—2.5.1.5 _ . =2:18
" \':3=2-5:1-5 2 :]-9
_;0' ’ — [ B
xx15=3%25 6. In an cxamination hall the ratio of
3x 2.5 ¢ invigilators to the students is 1:30.
& —-—|~5—— =5 How many invigilators will be
. - requied for 210 students?
heck weather 4.1 T L
] Croportion, 6 and 64 arc jn § Sol: invigilators : students = 1 : 30
p =16 X 4=6 301210
o 457 =04 _ : 30x =210 x 1
s 4,. 16 anfi 64 are in proportion s " 210xl
1 Find x if 6, 16 and x one in continued | x=
proportion. 30
o 8 16 and X 1} = 7 invigilatos
ok S’X Sl 7. The ratio between the measue of
J three angles in a triangle is 1:2:3.
x=32 § Find the measure of each angle.
4, Asurvay showed that the colour of ¢ Ratio=1:2:3
! et -
ca'(.isbclhol:en by. P‘:O}l‘)le ts_'l"efr’;w‘:"tg ¢ sum of ratio = 1+2+3=6
and black were in teh ratio ol 7 : 4 : : 0
sum of Is of t =
respectively. If 2 dealer has sold 1300 i OriEk
i ear. How ' f 0
Z::lsl cl:)lloaug :;?(; he ;)c‘l‘loman) cars 0 4 1 heasure of 1st angle = 180" x1=30°
. p 6
Sol:  Silver : white : black :
7 : : ' ¢
ol 7i4+2 _213 ¢ measure of 2nd angle = 180" x2=60°
Total cars sold = 1300
0
divercats sold = 1300x7 _ 700 measure of 3rd angle = 1807 x3 =90°
13 : i
whit 1300 x 4 i 8. A printer can print 450 pages in 30
ite cars sold = ——-1-3“‘ =400 minutes whereas a photocopicr can
2 | print 30 pages per minute which one
Mack cars sold = oo =200 : is speedy”
§ 13 a-and' § Sol: 30 minutes work = 450 pages
\ onth an L resssetcietetsterstsisisssas

e

Jamil earns Rs. 18000 per m
..000.0.

otetosored
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450

30
30 pages printet

printer = 1 munute work IS

photo copier = 1 minute
18 speedy
EXERCISE 6.2
L. A machine can fill 300 bottles in 4
hours. How much time will be
required for six such machines to fill

118

Srersasotoratetstatstsissntatasas

PP

..‘.‘““ﬁv

ain travels at a speed of

-o ‘0.0...00“0.

5. A hullet tr :
450 km/h. Convert this speed ing,
m/s.
Sol.
(60 minutes fravel 45:) % 1000
| minute travel 1;()()[)[).
60
= [75000 m/s

When a paratrooper jumps from thg

92000 bottles? 0. .
Sol. aircraft before opening the
Time i filling 300 bottles [=]400 hours parachute, ifs speed l')ccomc'.:' 50 mys
Time in filling 9000|=] 900 in 5 seconds. Wru.; will be (7S specd
bottles 5_06 x 40 X in km/h.
$ Sol. 5 —
30 = 120 hrs. Speed in /s = [50m in 5 seconds
2. A.(ubcwcll can suck 100 litres per Speed in kh/hr. = M
minute. How much water can it draw | 5% 1000
er hour? ‘ o
Sol. p our = ]80 km/gr f Sh -
Water sucked in 1 minute |=|100 ltr. : 7 The fastest bowling speec 0 . oaib
Water sucked in 601=160 x 100 = 600 kahtar is 160 km/h. show this speed
minutes Itr. ‘ Sol . ¥
3. A jot fighter is flying at 594 m/s, jo—— =
Show its speed in km/h. #Speed in 60x60 scconds = DT
Sol. | #| Speed in 1 =[ 160000 400
Speed in 1 second |= [594 m : 36000 9
Speed in 60 X 60" [= | 594x60 x 60 ' =[1250 m Ans.
seconds 1000 ¢ 8. A cheetah runs at 90 km/h for 50
' 51384 ¢ seconds. How much distance will it
- ' cover?
10 Sol.
= |2138.4 knv/ sec. $| Race made in 60x60 =190 km
4. The speed of sound at 25C° is about gl Race made in 5 seconds  [=]| 90x 1000
. 340 m/s. Convert this speed in km/h. : _%’6_
Travel in 60x60 |= [450km { - S et mAns,
seconds ¢ Review Exercise 6
Travelin 1 second [=]| 450 450 ¢ 1 Choose the correct answer.
60x60 360 ¢ Ifa:b=3:6andb:c=9:12thena
—Tar 5 ’ +b : ¢ will be :
— X — km/sec 4 (a) 3:6:12 (b) 3:6:8
36,8 § () 42112 (d) 275472 v
or| 5%1000 ¢ (ii) 27 : 54 can also be written as
8 (a) 112 v (b) 2:1
— 1625 m/sec (c) 54 x27 (d) none of these

Steoteoteototototeote
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f o ﬂfi(fl. eararatetatiiataiaiaing,., 119 lfulli:.
{4,:"’ 'i" "' an honr o a n‘in"“. i hay hc...,“..“‘.‘.‘q..‘.....‘.,..4.4‘4.,4--‘
’ __." I';(‘ 60 v (b)Y 60 ljlllx’ f(\r 10 mas s | 9 mot ‘” Y it
vabo@ E o A5
» (- 1600 (d) n(mc of (; ’ I J
) e 1wo supplem [hesg Time for 14 masons -
)n g it CNATY angles 4
‘ OF Sn the ratio of 5: 1, 7}, fw T3
) *‘rc ill be e .
es W I 6~
) 30& 70 v (b) 150° & 300 [
n
@0 1200 & 60 (d) none of fhege -

}mlc quantity increases and oy
) gecreases then the two quantigjs are
1

direct proportion
|‘ inverse proportion v
continued proportion
(@ 10 proportion
pxpress the following ratios a5
(,ntmucd ratios
aib = 79andbc =6:13

f

| 9
)

3) b
b : 9 :
6 13
l,z”ZE—fr? 54 117
14 18 39
ey = B : 54
o) ;; = 63:99
:“L ;7 §4 ]
6.3 9.8
| ”/Orr 34.02 : 52.82
3 A typist can type 60 words per
minute. How many typists will be
required to type a book of 43,200
words in 6 hours?
Words Time Typist
60 I minute = 1
43200 60 minutes = = x
1 : 60 minute
1:x 060 words :43200
43200 |
360x 60 5 o bpists
4. It is estimated that a building is
constructed by 10 masons in 9
months. If 4 new masons join them,
how long the same building will take
S to complete.

{ Unit 7

FINANCIAL ARITHMATIC
EXERCISE 7.1

| 1
:>1- Naecem has 2‘2‘ kanal house 1D
»
f Hayatabad. How much property tax
' he will have to pay per year- If the
: recorded value per marla is 3 lac
: rupees.

Sol.

1

Total area = 2_; kanals

: | 2x 20

' 2

= |50 marla
Rate of 1 marla 3 lac

Rate of 50 marlas

50 x3=1501ac

2
——x15000000

Tax =
100
= |3 lac
42, Ajab Khan is living in a flat of 7
marla in Army flats. The property
tax is not paid for five years. How
! much tax is due if the value of
' property is not recorded (one marla =
[ 272 sq. feet).
$ Sol.
i Total area = |7 marlas
§| Area in feet 7 %272
j 1904 F2
§| Tax = [60x1904 114240
. Qriyri=gi:g
3 = |[Rs. 12693.33

500880 bididod
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If the government wajyeg

LA supar mi 7.
gar mill is making engar at the 30.0007-. 1 V70 i ,
cott of Re. 50 per kg, What will be its off 16,5% GST on ”rli?c"mm' Whay
sales price after inclinding GST at will he the new gales price.
‘hlsn.‘":\ .
Sol S0 —[=[Rs. 30,000
e Sale price E— —
Cout . e =|16.5%
Rs. 50 GST rate —~——
Increase =116.5% New sale price =100 - 16.5‘.~
Nale price mcluding GST 50x165 =|Rs. 83'55 —
= N . v [ = KNP 83
100x10 i sale price is Rs. 10076
— then new price e
: : =|8.25 If sale pricc is Rs. 30,000 ~ 83.0>’-u0000
nerease rate =[50 + 8.25 then new sale price = 10 %100
| =[Rs, 58.25 —[Rs. 25050
4. T’hc airfare from Peshawar to =
Karachi of an airline is Rs. 5700. | EXERCISE 7.2
What will be the selling price of this | for 1 milli
; . g d purchased a house Ior ion
ticket if Rs. 1500 airport tax and GST ! 1. o pld for eleven million. How
at the rate of 16.5% included? ! Ang 30 2
Sl .5% are included? much profit did he make?
: t Sol.
Airr f; = b ~TTC —
are Rs. 5700 i Salc price =1 mll'hqn ol
GST | 3700x165 ¥ Cost price = [0 million___
10010 Profit =[11-10= 1 million
Increase in tax =1940.5 2.  Azam bought 30 dozelllfeﬁgsbof “::C!:
Al N - : 30 eggs were rotten. If he bought I
Sx;'pon — = Ll for Rs. 1800, what should be the
R c =]5700 £ 3405 : selling price of each egg to get a
= 1500 profit of 1 rupee per egg?
S. Sales price of a sewing machine is Rs. § go].
:2;1]81) (l.:lclu(.iing'.l:l.S"f,G(;S?r{). What ' Total cggs =30
ill be its price without ; Balonca —1360- 30
Sol ' ] =|Rs. 330
Let amount with tax =[Rs. 100 4 Proﬁt@ per ceg = - 200
Rate of tax =[16.5% §f Cost price e
Price without GST —[100- 165 |5l prce —
=[Rs. 835 I S
IT the sale price is Rs. 100]=|83.5 j|Sdlomrice peycss SRRRIE S0H0 00
then without GST 3. SA';gn(l]%g purc:m};ed 2aocoa(;'ofor Bs.
If the sale price is Rs.|=]| 83.5x4248 |/ ’ ,t I.spen gAMbt QR
4258 then without GST ¢ overhauling and decoration. He sold
10x100 the car for Rs. 385,000. How much
3547280 3 &l profit or loss did he make?
1000 Cost price = 1370,000
=|Rs, 3547.28 t| Decoration Expenses  |= |Rs. 20,000
6. The sales price of a computer is §Total cost = 137000 + 20,000

2-O8-00-0d Py
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Rs, 385,000

121

principal amount.

Math-7

fhada
. LAt atai st alatatslatssndsialissssntas

< = IR Sol:
YA 5. 390,000 =
13 385,000 Mark up = Rs 820 for 6 months @ s
i = [R 12.5 per annum
! ~soller burch S. 5,000 Principal amont = ?
7 pook seller purchased 15507 |
{ ‘fm' Rs. 75000. Due to dapy,, Y00ks Mark _ 820712
' « M ” — ——
crmites 84 books ot dlesl(c:S i S up paidtor L Y= 6
cach b()o‘l’( to earn a profi¢ of Rsc ;: { Princi B 100%1640% 10
per book? 8. 23 rincipal amont = 15
Ll , , =Rs 13120
NP =
|mooks - ;*15-675000 ’ EXERCISE 7.3
| n = X
W e = 1. Shehla had 15 tola gold and 140 tola
l/ . 22900 silver for more than one year. How
e price 75000 + 22900 much zakat will she have to pay if the
;:i 97900 market value of gold is Rs. 60,000
fice per 1 book Rs.97900 = { and silver is Rs. 1200 per tola.
| W’ - 00 916 { SOL
Rs. 106.90 Price of 15 tola gold | = | Rs. 60000 x 15
;/fr'h'ggost of a burger is Rs. 90 and it is of 15 tola go = |Rs.
" gold for Rs. 110. What is the Yage of %» N = |Rs. 900000 +
the profit? < 48000
| gl ¢ = [Rs. 948000
S — i -
| Cost pr'lce = 1Rs. 90 §| Amount of zakat = 474000%>
| [Sale price =[Rs. 110 . 100x2
| [profit__ AR | =[Rs. 23700
| e =120 : 2. Usman had some jewellery and cash.
' 200 1 20%100 1 He paid Rs. 25000 as zakat. How
' |profit % 9 T %0 : I much were his savings?
22.22% |=| 22 Lo, [T zakat is Rs. 5 then|=|Rs. 100
9 amount
If zakat is Rs. 25000 then|=]100 x 25000 x

"% Find the markup on a bike whose
| price is Rs.45,000 for 73 days at the
rate of 10% per annum.
Sol.
- Price of bike = Rs 45000 ¢
- Mark up for 73 days @ 10% per annum

45000 X ek
| 099X 700 ™ 365

=Rs 900
. The markup on a principal amont is
Rs.820 for 6 months at the rate of |

4
4
}

3

12.5% per annum. calculate the

amount

2/5

Rs. 1000000
4 Irum has gold worth Rs. 280,000 and
silver jewellery worth Rs. 62,400.
How much zakat will she have to
pay?
 Sol.
Price of gold =|Rs. 280
Price of silver =|Rs. 62,000
Total amount ={280,000 +
62,400

b o b

teretee

e
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R e RN et et et erates etesetesel st asasasstalstasssasssesalsssIsttIsisis.,,
“"“M--__N,,__? H Re. 42400 (i)  The rate of ll,r"pc”y tax f‘lr‘
Amount of zakat _ ‘3,1_\\4“”,‘—5 r'cmrd(t;&mluc s(h) 300
- . |7 [Rs. 8560 (iii) pmpcrt)‘ tax is levied on
. \li paid Rs, 49500 g4 7akat, If he has (a)  Urban property
40 tola gold, how much cash he has? (i)) Rural property
" (Gold is Rs. 40,000 per tola). (c) Both urban and rural
. : ropertics
:a\]lla::l amount paid as|=[Rs, 49500 v () ijl:c ofthc;'sc ; i
T : iv) The rate of ushr for baraniiand jg
m(;:;lp:goum on which|= 100x 2 x 49501 :( ) (@) 5% (b) 100%
5 b v (C) " 20% (d) 2%
E =[Rs. 1980000 |} (v). GST is levied on
> Yunas has 30 jarib barani land. Te | (a)  Factory owner
obtained 1000 kg wheat per jarib. (b)  Wholesaler
How much wheat as Ushr will he tv (c) Final consumer
& have to pay. ! (d)  Allof these.
- _ (vi) The rate of GST is
Total agricultural area =130 jarib i (a 20% - (b) 2%
Total wheat =[30x 000 c) 108%  (d) 16.5% v
=130,000 kg (vii) Government levies taxes to collect
. money to
Total Ushr = 30000Xi ! (a) yConstruct roads
Eipdid 0-_1%, (b)  Pay salaries to its employees
6. Hayat Khan cultivated tobaccgo on 10 () Buic arrny
jarib canal irrigated land. He sold the § ... (&), Allofthese.
tobacco for Rs. 120,500. How much § (Vi) If the cost price is more than the
Ushr will he have to pay. ‘ sale price then the seller has made
Sol. , (a)  Profit
Total amount =[Rs. 120500 ]8¥ () Loss
1 : (c)  Neither profit nor loss
Ushar =1120500x — |} (d)  Allofthese
20 |3 (ix) Profit can be calculated in
=|[Rs. 6025 f - (a)  Match factory
EXERCISE 7 (b)  Restaurant (c) Banks
(Objective Type) v (d) Allofthese
1. Colour the correct answer. (x)  20% of 500 is
(i)  Ushr is payable after (a) 1000 (b) 100 v
(a)  oneyear : (c) 10 (d) None of these
(b)  six month  (xi) The payment of zakat becomes
(¢)  every harvest v ' compulsory on a person if 7.5 tola
(d)  all of these : gold is in his or her possession for
(a)  One month

0D DI I Ddad. 0000008 s

< Py
o Py 0800
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:,,/ (b) One year “"-3“.‘3?‘.,1‘.?!“?}“_’.,‘.‘.‘.‘_9?“.‘?,"»’—--vt”-(""/ IH 0

) neyear (d) 355 dayq Profit |

(¢ cate of Ushre . rolit 7 “16,0(
, rhe ¥2 . onr for Cang| N LAL ——
il il_rigmcd land is (370 ; 8 |
L m OP () 10% = Rnloh ]

0% (d) 2 O

S\Ii owns & house worth 72 lac Fupecs, | —_—
0% o much property tax wiy have

(0 pay after one year if (e Fate of | Unit 8

s tax is 2%.

propcrt) ax is 2% H AUABHMB EXPHESSIUHS
L ount = [Rs. 7200000 EXERCISE 8.1 f
W = 2% 1. Write the constants and vana_hles-o
Ui‘? = (7200000 x i : o1 the following algebraic expressions:
12 = |Rs. 144 0 00— | x -

. ) 00 < bleS
T —— - ts| Varia

~Anees is living in army-flags He paid (‘) X-3 Constan .
b Rs. 90,000 as pl‘OpCl‘ty tax. What is (") y+ 5 -3 -

the area of the flat if it is chargeq a¢ §| (i) [x2+2xy+4=

Rs. 50 per square yard, | (iii) [2x - 2+ 5y2 = 4 X, ¥
B : t{(v) [x*-5x+8= -2 XY
Wald as tax then|={1 yard f; © 2 -
el - : $2.  Find which of the following are
TRs. 90000 paid as tax| |190000 {7 polynomial
then area 50 10 2x+1 Polynomial
— =11800 yards i

. 1 .
h“-e cost price of a tube well is Rs, § 1) Y- y Non-Polynomial
50,000. What will be its selling price

after adding 16.5% GST? (i) 3 Polynomial
4

lflfrt;?rfés' ;6()0‘3' giszldpiz?;tosg b3 Write down the names of the
e L] ,o y , . .
obtained on the sale of tube lights. ¢ following poi AL

{

{
Sol.__ $ :
Tax on Rs. 100 =|Rs. 16.5 5 (iv) 3x2-2x+ 5 Polynomial
o _| 16.5x50000 || g2 E
Tax on Rs. 50,000 = TR 3 ) Xx“+5, ]

=|Rs. 8250 s 1

5. A shopkeeper purchased 200 tube 1 (vi) L) Polynomial

Also calculate percentage of profit § (1) 2 Bionomial
= per tube light. () 8 +4 Nomial
0‘ . -
—TRs_ 7600 :(iii) 4 Bionomial
=145 x 200 ' (iv) x2-y2 Bionomial
=|Rs. 9000 '} (v) x-y+z  Trionomial
0000000800000 -! GO DICICODEBLOLOCICICLOE0000 et otot0s0tosesd
-0 D I> i
b i~
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(V1)
(vit)
(Vi)

(x)
(x)

Q)
Sol.

(ii)
Sol.

(iii)
Sol.

(iv)
Sol.

v)

2,

ey

*totee

X-1 Bionomial

B P »
X4 SX 460 Trionomial
- 7x Bionomial
2xy+3yz Trionomial
1 1
2 5
EXERCISE 8.2

Add the following nomials:
X2+ 3x+4,3x2-x+2

y +3 Trionomial

x2+3x +4
+3x2 = x+2

4x2+2x+6
3x3-2x2+4x+5,x3+x2-3x-9

3x3-2x2+4x+5

+ x3+x2-3x-9

4x3-x2+x-4

X+5x2+4,10- x +2x2, 4x3-3x+5  {

5%x2-x+4 -
4x3 -3x+5

+ 2x2-x+10

4x3 +7x2-5x + 19

4y+3 - 3y2 +2y3, dy3 - 5y2 + 7, 2y2-5
2y3-3y2+4y+2
ayd = Sy2 it T
+ +2y2 -5

6y3 - 6y2 + 4y + 4

p+2q-3r
+ 4dp-3q  4r
Sp-1+r

Subtract the second polynomial from
the first polynomial.

PPy
888 >
.y ® 00000

124

(i)

(iii)

)

(i)

(ii)

(ii)

0D 0D 00000t be bt

My

0.0‘0‘0.0.0.‘00‘00‘.-.““““
.0‘0 ) ( o S
2y gy 4 4,4x° HOA
x? +2X +4
4x’ 40X 75
;/_

2 ax=5, 4x* +6x+8

3
x p—
x2+x2+ X =3
4){3 +6)\'+8

__3x2_x2_5x-—13
243b—C, 3a—-4b+2c
at+ 3b - ¢
33: 4b'f 2¢

—2a+7b-3c
Add the following.

Sy’ -4y’ —3y+4
5y*— 4y’ - 3y + 4
4y’ + 2y -6y =15

y' -6y’ +3y+19
3x' — 6x’y +7x* +10

10x* - X’y - 2x* + 5

+ +

-7x' =5x'y +9x* + 5

EXERCISE 8.3
Simplify:
@x’) (2x%)
=4x2x°? | = 8x°

(-3xy)(2x’y)(-5x%yY)

) X_S(xl+3+2 y l+l+3)

-5y (x2+2)
=(=5%"xx*)—5x% x2
=_5x2+2 *5)(2)(2

b b o b o o>

.\:’,
h'? |.‘

)

A
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6x* 54x -5% +45x+4x2 36)
= 6x*- 5% - 50x% + 45x - 36

EXERCISE 8.4 i

OO0 0O Bt bod

..“O.‘.‘.“‘.““““““‘.“ 1 2 5
-

Math-7

: ";'"}.r"' % - 10X "“i“uo.......““”“..-...“.,“..‘...u:uo“
" qn 4.HI\ =2x" -1\ + X (7\4)”” o
N (a N’ H.l (.\) +a'(1) < =2x* - s\ 4+ 2% =x7+10x7 -
l ,1“ +s +d ‘ =2x7 —x'4+9x* +17x -1l
_at4a' 40’ (6)  3-x?4x(x+1)
’))(\ -4) b :3—x2-§.x2+x
R ,<\+_)\3—(\+2)-4 ! =34x
_x' +2X —4x-3 (v =5)+ (94571~ v("v -—7V +4)
(x- y) (\2‘)’ ) ' =y’ —5+9 +5v -2y’ +7\
0 g.\“(\ V-V (x -v) ; =5y Ty 4yt -4y =2y +9 3
§0|' =X —-.\y—\y +y =5v3_2y3+7y2 _'*_‘,3_4),_*_9_3
M (a*l‘)’)((::;’:cc)) =3y 18y’ —dy+4
8 6w o) Bt vty | EXERCISE 8.5
‘ _ +ab+ab+b%+ ¢ + e 1. Simplify with the help of the
- 2+2ab+b +ac+ be concerned identity: |
C gt +b"+221b+ac+bc " M ;’},:%]‘\{ITOD)
sol. ( » X" —4x-21
= 6‘ (x '9) 5x (X 9)+4(x2-9) (D) (x+ 1) (x - 3) - (x+4) (x + 12)

=(x? = 2x =N=(x? +6x+8)

=x?-2v—-3—x?—6v-R
9 9 -~
=X"—-X"-2x-6x-3-8
=-8x-11

Simplify the following emressnons $2.  Expand bv using suitable identity.
0 \(\—7\+V(3h+7vﬁ ()\ +v) ¢ (M (7a+'§h\‘
.-)\ . _2)\+3X)’+2V _y ‘ —4& +9b +12ﬂb
=—2X+3xy +V’ ) LSS 2
M (x+Y)(X-Y)=2xy I
X(X+Y)=y(x+y)-2xy i
=X XV =XV =y’ ~2xy (1) .
| L2 —7xv ’ (2x) +(3y)’ +2| =x |(3Y)
B abla+b)-(a’+ b’ +a’b+ab) $ i
=a’b+ab’ -a’ -b’ -a’b-ab?  } =—x"+9y” +3xy
=a’b-a’b+a’b-a’b-a’ -b’ i: A
I T 5 N ’ (3) (x =2V
W a+30)(2a-3b)+(al-b) 4 S AR )
=2a(2a+3b)-3b(2a+3b)+a’ ~ b} Tt S,
=4a;+63?—6§1b—?b2+a: —'b2 { (4) ia__s_b
=4a° -9b* +a’ -b* i -\2 4 -
S - 10p2 $ 532 2 -
O 2 3x p 2x=D(x2 4 5x+11) =(ia) +(§b) _g(ia)(ib)
=2x‘-3x3+(2x-1)(x3+5x+11): 2 4 2 )\ 4
Riaan S sosssssosscses sosososctescs . -

000 CIOICICIOY ot

<>
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292,250 15 l ' (x4 (x=4y)
4 g T @ 1609
(5)  (3a+3b) —(2a-5b)’ OO T aaax 0N
:(932 +]6hz +24alﬂ " : - (4\2 +7>2<4><3X+(3x)
=(4a’ +25b? ~20ab) | =— (443X)
=9a° +16b” +2d4ab-4a’ -25b? +20ab § (7) lﬁ—-’; (o
=0a% —d4a? 116h? —25h? 4 24ab +20ab =(47 1%
2 - = X)(4"x)
=582-913 +44ab "3(1:th3‘
(6) (2X=5v)* +(3x+4vY’ R A b
=(1x” +25y° ~20xy) +(9x° +16y" +24xy) ~ e a+b)(a-b)
=4x7 425y -20xy +9x7 +16y* +24xy T
=4X7 49X 425y +16y” ~20xy + 24xy (O = X PRACI
=13x" +41y” +4xy "t (2 4 vAxE =V
3. Simplify with the help of a suitable e Ly = (V)Y
m Ide,nltm_:q | . =(x2+vz\("‘i‘)')(x‘y)
N am (190 =120V 7
=(x)"=(7) — (1004230 =(1004+20)
=(x+7)(x~-7 | = = ((100)"+(20)
() 2 5 64 x=7) »={(100)2+2x100x23+(23)')-{('00)'+(20)'+2’<100120;
XV 49) (xv—8) Z10000+4600529—-10000~400-4000
(N 2527 —49ah? =4600-+529~4400
= (5a) —(7b)’ =
=(5a+7b)(5a-7b) .
@) (100)* - (81)? ] EXERCISE 8.7
Sol. (100 + 81) (100 - 81) Factorize the following algebrajc
= (181)(19) expressions: |
= 3439 Ans. M x2+4xA
EXERCISE 8.6 =’ 43X +X+3
Factorize the following: =X(x+3)+1(x+3)
M x>Hx+4 : =(x+1(x+3)
=(x)? +2(x)(2)+(2)’ KNS Ex
=(x+2)(x+2) : = X" +4X+2X +8
() 9x2430x 425 : =;<( X;ﬁ”%{ ;\’+4)
=(3x)V +203%)(5)+(5)* =(x+2)(x+
=(3x +5)? JO)HC) 3\ X“+2x-18
=(3x+5)(3x+5) ‘ =X*H0X-3X =15
3 4x? +12xv49v? =X(X+5)-3(x+5)
=(2%)* +202x)(8)+(3y?) =(x=3)(x+5)
=(2x+3v)(2x+3y) $.(48 L vi=Sv+6
(4 v —6v+9 g =v =3v-2v+6
=(v) =2(V) (3 +(3)? : =y(y-3)-2(y-3)
=(v=3)(v-3) - =tv-2)(y~3)
(Y —Ox2+16xv =300 b (3)) =112
=—7‘£x2—2xv+16v2\ : =t —4t+3t-12
e SN2 4 THA3-d)
———— ~ Mbtiat e e cetescsesososessieierst
L} X P B
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V0 eseeetetetang,
N (=)
4 \.3\74-(\\'2\’—-77\.\,
';\'\;(,\'2+6x_')7\
,,\'\’{(X\2+9x_3 -
ﬁx\r{X(X+9)_3(;+92)7)}
S x=x49)
nz._?n—lﬁ
l ,az ~5a+3a-15
53(3”5)'*‘3(&—-5)
=(a+3)(a—5\
_7a* +10a’ —8a>
-2a2(322- Sa+4)
;-—7.7! (a —43—24.
,—:17}\232(3—4\_1(2111:1) :
=72’ (a-4)(a=1)
\!2——4\/4-?
v =3v-v+3
—y(y=3)-1(y-3)
=(v=3(v=1)
,\'24—5'3(—7.4
=X2+8X—3X—24
=x(x+8)-3(x+8)
=(x+8)(x-3)
EXERCISE 8.8

Fill in the blanks.

A symbol whose value does not

remain constant is called

mx+ 3,5 is called

x2 +21s

2+2x +3isa___ inone variable.

(a- b)2 =

(i) Variable (ii) Constant

(ii1) Bionomial (iv) Polynomial

) Read the following sentences
carefully and encircle 'T' in case of

:‘\

in

0

i)
(i)
()
(v

Ans.

irue and 'F" in case of false statement:
i x- 1/x isa polynomial T/F
i) xx=3is binomial T/F
i) (x+2)(x+b)=X’ +(a+b)x+ab
(T/F)
i (x+3)(x-2)=x>+5x-6 (TF)

00000000
OO O OO
OO O-O-OO-O-&

B OO

had 2
“uw..‘.““" 27
.o

ABs. (i) False

TR S ———
e Bt ® B e+ B e A g e

Math-7

v ( 2~ 2— ’ PPt b ol
(v)  a’=b’=(a+h)(a-b) (1/F)

(i) False (i) True

3 g‘l’l)oFalsc (v) True
ose the correct answer and write
:‘)Z:; b, ¢, d against each option in the
() (a+b)’=
(@) a’-2ab+b’ -
(b) a’+2ab-b’
v (c) a’+2ab+b’
(0 b’+2ab-a’
)(ii) X’ +5x+6=
@ (x=3)(x-2) .
:Y (b) (x+3)(x+2)
» @ (x+3)(x-2)
@) (x-3)(x+2)
 (iii) (x+4)(x-4) =
(@) x'-8 b) x*+8
(c) x*+16 @ x*-16 v
 (iv) p(x)=x"+5x+4 isa
(a) Monomial ~ (b) Binomial
v (c) Trinomial (d) None of thesc
(v) (-2x))(4x) = |
v (a) -8 (b) —6x’
) -8x° d) -6x°
(vi) The product of 2x° and 4x’ is
(a) 8x” (b) 6x"
() 6x (d) 8x° v
(vii) If a’-2ab+b’ = 36 and a’-3ab+h’ =
-22, find ab.
(a) 0 (b) 8
(0 12 d) 14 v
(viii) When <2-x+1 is subtracted frm

-AJ—-OOOM“W
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FETRLat At b IRt At et bttt At aiatatssarnsntsl e ‘,'ﬂ(‘“"'l(':
=4y 48, the result will e j RESIOE ! :»
(M NI P2 Kl
voo(a) 2aedxndd (b) 2xa-Ax td "i::,ig,'_—_(,s: +8)(x+8)
(€) 2= 6x 46 (d) A= 6300 i(w'—-,’;(‘;v)_v
. PO 2 . 31 (dx) —'- "
4, Add 2x 4X-2MI("4N +5x -0 ‘j;+5")(4\,3y)
- 4By ) 2 _47
AX 45846 i ¥ 642
2x* ) =x =TX+0¥" 7
BN, e X T _y(x=T+0(x= )
o 2 e T (x+6)
~2x" 4+ 6x +4 2 =(x 7)({?¢(,ﬁ
§.  Subtract x2y + 7x3y = § from =3x7Y ikt
10 + 2x3y. § Unit 9 N
—3x?y+10 + 2xy’ | LINEAR EQUATIO
Ix'y +x%y -5 : EXERCISE 9.1 _
o - : £1.  Solve the following equation:
-Ixly  +4xly +135 +2xy° G x+77% -5
Sol. x+7=-5
2x2 + 6x + 4 By subtracting 7
=x+7-7 =-5 -
6. Multiply (x"-x+)with (X+]) 1 =12
Sol. {-12}
=x? (x +N=x(x+N+1(x+]) § (i) x-5=2
=x 4 x?—x?—x+x+ Sol. x-5=2 .
=X3+1 =x-5+5 =23 |
7. If A=x+y+2,B=x+] and : By adding 5 on both sides. |
C=y~-1 then find: x=7 {7
- X
(1) A+B-C ¢: (i) = =5
(i) A-B+C . 2
(i) A+BC i X |
() A+B $Sol. =S |
Sol. X+y+2 ' X o |
X +1 : Or EXZ = XL
) : F .
: ¢ By multiplying 2 on both sides.
+B= 2x+y+3 y plymg
ke i ' x=10 {110}
C 8% ae i) 5x=10 |
= 2x -2 $Sol. Sx=70 |
(i) A-B=x+y+2 X =70 . !
X +1 ! 3 ? dividing 7 on both sides |
y+1 : x=14 {14} |
C = y -1 (v) 8x-2=14
Sol. 8x-2=14 ;
Jpn ArDFGE Ay i w e B2 mIAFDNT T Vo e |
v /\____ '
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“F'r‘:;"." 2 on both Qi i s r i atatniatatstatatasarasasssasatst
.‘" MY § ( \‘-.
4 By add'm’ ' o .4_)1 - 39
S\ - —— r dividine . By dIVldlng 4 on oth s1des.
/Q, =5 By dividing 8 on boy), sides y - 5 (5}
,_tz {2) 3x-2 4
7 i = <
13 £ ot 5
e '
0 5 : 3x-2 i
R B $ Sol. = 5
| ‘\/5/= ! | 2:(;1 10 8x + 4
W = =15x - . =
;4(.‘?’1):55)(5 g =15x - 8x + 0 = §x+4‘8’(
caxm 42 _ By subtracting 8 on both sides.
Gt x-10 =.. 4
x=29 7x-10+10 =  4+10
x 1 1 $ By adding 10 on both sides.
,‘-—.—.—-'x=7z= 71— x = 14
4 4 By dividing 7 on both sides.
4 = 2 {2}
22 = 21 ) X
S 3y+l 3
o T2 ) = 7
T 1x-2) 21 2y+4 4
W a7 3y+1 3
Sol. = -
By dividing 7 on both sides. A 4
2 o 12y+4 - =  6y+12
- By cross multiplication.
. +
B BE . 12y+4-4 = Gy+12-4
By adding 2 on both sides. ¢ By subtracting 4 on both sides.
x =5 {5} ’ 12y = 6y + 8
2y-6 2 ' 12y - 6y - 6y + 8 - 6y
e . — » By subtracting 6 on both sides.
W y+1 3 . 6y = 8
2y-6 2 6y, e 8
- y+1 X 3 : R A
32y - 6) - 2y +1) | By d1v1img 6 on both 511des.
By cross multiplication iy = — {1:}
o8 i ol i 0.3 32(10 ‘
_ , $ (xi)  0.3x+0.2(10-x) = 0.15(30)
By subtracting 2y on both sides. $Sol:  0.3x +0.2(10-x) = 0.15(30)
6y-18-2y=2y +2-2y : -
dy-18 o'~ ' =03x+2- = =45
4y+18-18= 2+ 18 h :
By adding 18 on both sides. =g t27F =45
dy=20 4 By dividing 10 on both sides.
““."‘“‘.

P 588 DS

P o - o "
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5
=3x+20~-2x =45
=3IN=-2x=45-20
=x= 2§
{25}

Il

= 4.5

EXERCISE 9.2

1. It a number is multiplied by 4 the

130

N N T i sastatstnsats

2x
2

. 11

1. Ali Think
subtract

sum, the result is 9. F

you thought.

2

i
h’(llh.? I/

amssans “00“00“““““.“.

22

So required number = 11
¢ of a number, add 5 to it,

7 from the double of th

ind the numbg,

P90

. » Sol. —
Sol result is 20. Find the number. et the thought number be |=]X 5 .
Sol. ; =[x+
Let number be =[x By'addmg 5 —126+5) —_—
By multiplying 4 20 = 4x e "'"°b‘°‘ — “[2x+10-7
By dividing 4 on both|= : By subtracting - e
sides E = -4—\ L 2x.4'-3
- 4 According to the given condition:
So requird numb =|5 2x+3=9 = _
2 Sum of the three consecufive cven | By subtracting 3 from both sides:
integers is 66, find the numbers. 2x+3-3 = 9-3
Sol. : 20N _
Let 1st even number b =|x : By dividing 2 on both sides.
2nd evdn number =lx+2 ¢ 3‘1 - E
3rd even number =|x+4 $ 2 2
A . . " 3 X = 3
ccording to the given condition : So the thought number = 3
X+x+2+x +4 = 66 '
Ix + 6 ¥ 66 i, 2. In a class of 45 students, the
L4
: = ; 7
x+6-6 = 66 - 6 b number of girls is § of the
By subtracting 6 from both sides. ‘ 7 :
x = gg : ; number of boys. Find the number
X = '
1st Even number =20 of girls in the class.
2nd Even number =22 Sol: Let the number of girls = x
3rd Even number =24 ‘ 7 7x
3. Think of a number, add 4, double the § number of boys =x 7 of = —
sum, the result is 30, find the : 8. : 8 !
oo According to the condition of equation
Sol. : X
Let thought numberb  [=|x ik ¥gn i 45
By adding 4 =Ix+4 : 7x
: HEERL e,
2 times =[2(x+4)2x+8 |} 8('\ o —8—j =45 x § Multiplying be 8
According to the given condition !
2x+8-8= 30-8 §¢ . 8x+7x=360
2x = 22 g 15x = 360
 Bydividing 2bothsides. §
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z ;/ I-:"\, - }_9_(1 '00‘.00¢.“‘.“..““““....“““A“‘ X ‘ﬁ‘l(l‘lﬁl
b 2X+d-4 = 36
N - 24 j 2)( - 32
m:“ II{IZ;R[} X. l"Om Which 1. ';);(hvidingZ or; both sides.
- ¢ ,
.. wn s twice of (1o amon | X 32
feft with him is R, 86, find x. ont § 2 5
: ;\mount with a man = y X = 16 |
d Istodd number =16+ 1=17

Amom he spends = Rg 6

lcﬂ with him=x -

famont left = 2(x- 6) = 2x - -1
dlﬂ gto the condition the Cquation
% - 12=06
x-12+12=6+12
=18

x 18

72
x=9
Rs9 Ans
Afridi and Shehzad gave 69 rungs
opening start to Pakistan. If
Afridi's score is double of
Ghehzad's score then he needs how
many runs to complete his half |
century? '
Let Shahzad's score = x
Afridi's score = 2X
2x+x=069
3x=69

3x 69

3 3
x=23
+ Shahzad's score = 2
Afridi's score = 23 x 2 =46

Afridi needs = 50-46 = 4 runs
'S Sum of the two consecutive odd

S integers is 36. Find the numbers.
0l,
x+3

Let the first odd number
d 0dd number
dition:

According to the given con d '
X+1+x+3 = 36 '
2x- 14 36

<
§
<

Gl:

x+1

I—

4

4
4

37

4
}
)

By dividing 4 on both sides

2nd odd number= 16+3 =19

Perimeter of a rectangle is 32 meter
and its length is 4 m more than its
breadth. Find the length and breadth
of the rectangle.

Let the width of rectangles = X
Length x+4

Perimeter 2(x+x+4)

' 2(2x +4)

4x+8

According the given condition

4x +8=132

By dividing 4 on both sides.
4x+8-8 = 32-8

= 24

By dividing 4 on both sides.

4x 24

+ -
X =
So width 6 meter
Length=6+4 = 10 meter
Age of a mother is 3 times the age of
her daughter, after 4 years the sum of
their ages will 60 years. Find their
present ages.
Let the age of daughter be = x year
Mother age = 3x
Daughter age after 4 years = 3x + 4
" According to given condition:
x+4+3x+4=60
4x + 8 =160
By subtracting 8 on both sides.
4x+8-8=060-8
4x =52
By dividing 4 on both sides.
4x 52

Sol.

6

Sol.

000000

208 000000
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8 e | o N
Nl‘ iW I A IRLIALY (1) YWhick of fh (4 )
T AL u MNH‘HH'HM bt the o ¢ f)ll; 4
| ] MH' 1y AL 4, Winy,
aehl »ml T AR L ol | Vi Mty “uag
T it fiy (e of false g, o
TR ulnlunwul il (AN TR (,1) RV, P (sz"i
TR il ‘ (h)y 747- ) )
() KL whert d (0 1 [ismesat (c) 7y »../,]04
gt i (0 yinfilile (1) 1§ (dy 2n44n1y
" ||w TG of Kol =0 Jo (v)  Which equs '
R} (I 6 Auation hag ,
: : ‘ / e : q(jlur
Wil e sl el Hl T (0i(1) (3) 24-0=4 o
(h)y Ja+7=
(i) The solutlon tel nl Al (1) / ’;d ; !
4 ~
L b Hoent uwlnliun inone (c) I =) =
vinlablo, (I | 3
v i the Ik, ‘ (d) =a+19=
(1) A valwe of variable which malcy the 5 19=16 v
: :
cquation o (e atafemont s called (vi) Solve 2(b-3)+5=3(b_])
| ol the equation, ‘ (7] AN (b) 2'/
(i) o solve o linoar equation sublract (c) -3 d) 3
ambor from both sides of § (Vi) Solve 75 = 9t =5 (-4 +2t
fhe cquation, (a) o2 (b) _)4
- "Hhe solution ¢ N { (c) 4 d
(i) The solution set ol 5 218 Y4 Solve the followin (l) 3Y .
(i g lunar equation
L L L ) SGx+2)-2= 21T
S gy Cauation is ‘ 15x+10-2 = -2+ 14x
bl 15x + & = 14x -2
varbie, ‘ 3 .
(v)  Thevalueof x ofali ;5’(*‘8.-8 b oo
x of a lincar equati ing & on both si
o of x of a lincar equation 3x I;lstrz;c;tn 130 e
Ans, (i) soluti P . ?(-
O o T Sibactng 6 on b i
3. Choose the t‘ﬂrr\-)- . B (15x - 14X = 14X - 14X - 10
in (a), (1 cct option and writ gl
m WI.I'()), (¢) and (d) form, : {-10}
tich equation is not ¢ ' 3
toh=15=32? quivalent (i) X+] 4
(0) bt =
Vo (o) l: fx Sfa (b) b-20-27 52;( 13 >
() What Is the solusion oo | Gx+1) = 42x+3)
_ solution 15x +5 ‘
,oos of x =167 = { 15x+5-5 = 8+l
(1) 115 Rt 8x+12-5
(¢) =115 (b 219 ‘ ?;btracnng 5 from both sides
PSSt ereratas. (dy =219 X o= 8x + 7 '
ctetesetetetetes 15x - 8x l
= 8&+7-8
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qubtracting 8x from by,

sides,
x = ’
X - !
7 7
By dividing 7 on both, sides,
SRR S 1
x-1 1
Jin x-2 ’ 5
2(x = 1) = l(x - 2)
-2 = X-2
2x-2+2 = X-2+2
2x = X
2X - X = X-Xx
By subtracting X from, both sides.
x =0 {0}

;,  Perimeter of a square j 20 m. Find

the length of each sige of the square
Let 1 side of square = x .
Perimeter = 4x

According to the condition

Sol.

4 = 20
By dividing 4

4x 20
)
X = h)

Length of side of square = 5 meter
6.  The price of 2 tables and 3 chairs is
Rs.340, but a table costs Rs. 20 more
than a chairs. Find the price of each,
Let the price of a chair = Rs x
Price of a table = x + 20
Price of 3 chairs =3 x x = 3x
Price of 2 tabels = 2(x+20)
equation = 2x + 40
3x +2x + 40 = Rs 340
Sx +40 =Rs 340
3x +40 - 40 =340 - 40

Sol:

s
>

etasasssminans
Fahad L L L2 DT PV PP B

7. A father is 3 times as old as his son-
In 10 years time he will be double his
son's, Find their percentages.

 Sol: Let the age of son = x years

Age of father = 3x years

$ Age of son after 10 years = x + 10

Age of father afic 10 years = 3x + 10

Accoding to condition equation

E 2(x+10)=3x+ 10

z 2x+20= Ix + 10

' 2x=3x=10-20
-x=-10
x=10

Son's age = 10 years

¢ Father's age = 10x3 = 30 years

8. The rectangle and square shown

below have the same perimeter. Find

the dimensions of each figure,

Perimeter of rectangle

=2(3x+2+x)
=06x+4+2x
=8x +4

¢ Perimeter of square = 4(3x)

¢ According to condition equation

12x =8x + 4

12x-8x =4
4x s 4

xt1 4
¢ Length of rectangle = 3(1
| breadth =x = |
 Length of square = 3x1 = 3

b
b
4
4
¢

| Sol:

)+2=5

Unit 10

BASIC CONCEPTS OF GEOMETRY
EXERCISE 10.1

5x =300 t 1. Two complcmentary angles measure
¢ 300 X and 65°, How many degrees are
5_‘\ - — there in x?
it B Sol.  90° - 65 =250
' N . 0 2 T‘:’o vertical angles measure x and
Price of one chair = Rs 6 45°. How many degrees are there x?
Price of one table = Rs 60+20 = Rs 80 Sol. x =450
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warding ¢ ¢ oy €
regarding similar ﬁﬂ“rcs; «..,“l‘t;,_7

Al

Is this an example of i “

ar

) Blrey
A 25
~ A
e \ o\
a. Yes b NO

These are two congrueng tri
Fill in the missing values j, th "gleg_
blanks. € ive,

vl JUPTTRY L
(\lﬂﬁh'l.(‘ J"l'(II”Q‘ "'.'i‘jp PUPTT L, ooooo‘o;‘“‘c "
1 e sepplementary WS L e 41
‘ and 750 How many degree
inx? 105"
Sol. 180°=75" = 10~ 9y and
4. Two vertical angles mcasmﬂcl j; i‘:l :
§0°. How many degrees are ‘
followill;ﬁscf:(rzgoncs: — :
Recess meal § rupecs '
Sol. 2x=80° |
x=40° o !
5. Two complementary angles mc’laﬂt";s
(2x +10) and (x +20) degrees What 15 §
the value of x? ,
x+ 20 ¢ 2% 1 10 '
90 = 2x+10+’x+20 ‘(1)
Q0n.= 2x+x+‘10+20 ,(@
90-30 = 3t 30-30 (;u)
60 = 3 $(iv)
60 : v)
. 4 |
R 4
6.  Two supplementary angles measu1:e
(5x-30) and (x+90) degrees. What 15
the vaue of x? $
Sol: (5x-30)+ (x+90) = 180° ,
5x-30+x+90 = 180° .
Sx+x+60 = 180° !
6x+60 =180° >
6x+60-60 =180 - 60 [
6x =120 :
6 _ 120 ,
6 6
X= 200 o
7. Solve forx. - ,
Sol: (x+3)°+(2x-3)° = 90° ‘)
x+2x+3-3=90
3x=90
9 ‘»
3 .13 «
x =30 |
EXERCISE 10.2
Answer the following questions

P

SOl

B
Y
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A at the shapes aboy )

o )
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Math-7

circles whose diameter is

i‘hi‘ 118 c011i1;;c1n or similar to shape § Sol. E‘; 1lem (ii) 14mm
‘ P o ! Diameter = 11cm
T\ﬁ 6 is congruent to shape ,
M 11is 0 shind 3~ ' Radius = —=5.5cm
ghap* 1ape 12, . _ 2
ghape 8 8ﬂd? HITC — toeach other. (i) Diameter = 14mm
D e 5 is similar to shapes .
\ ﬂ__ — and Radius = 5" 7Tmm
(a) 1(,)’ !1 and 12 (v) 4 5. Draw a circle with center O of any
() Similar. (d) Congruent radius. Draw any chord
© 2,8and 9
EXERCISE 10.3 N
praw circles with radius A/ l
@  A4dem (i) 44em M S L
Sol:

chord = Ag Radius = QL
Diameter = LOM

,  Draw circles with diameters

") 6.8 cm (i1) 8.6 cm
0 L
6-8 cm

1, Find the diameter of
Sol:

8.6 cm ‘

Radius = S5cm

Diameter = 5 x 2 = 10cm
Radius = 8.6cm

Diameter = 8.6x2 = 12.2 cm

i

6.  Draw a circle with center O. Draw
any four diameters. How many
diameters can you draw in this circle.

Sol: :

AB» CD» EF and GH are diametes.
We can draw many diameters.

a3 Draw a circle with center O of radius

3cm. Draw any AB

AB

PRy Ol d > b0l

“  Find the length of the radius of the
Mrreres roee  coore

-
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S. In fig, name the points which are ] (a) PO (b) C)_R.
(c) QS (d)Y All of the above
(iii) Name the center of this cnrc!c. |
. (2)¥ Point Q (b) PointR
S ©) Point P (d) Nonc
Sol: ()  initsexterior=s,u, T. :
(1) in its interior = A,B,c,D,0 ‘ P
(i) onthe cirlcle =P,R,Q .
o Two points A and B are given. Draw
any circle whos¢ center is A and §
which contains B in its interior. &
Sol:
. . 5
§(iv) Whatis pR (orPQR)?
. tv  (a) Diameter (b)  Ratus
$ (c) Center (d) None
REVIEW EXERCISE 10
Encircle the correct choice:
(i)  Which of the following is 2 chord, but |
not a diameter? . '
@ pr (® QS !
(c)¥ pT (d) Noneof these ¢
‘)
}
$(v) IfPQis3cm long, then how long is
' PR?
' @) 1.5cm (b) 12cm

(c)¥ 6em (d) None of the above

Z, Fill in the blanks.
The two figures are

SR
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(1) Construc ISE 11,

triangjeg i "¢Quireq “Quilaterq)
5 ?Stnangle ABC Whog Perimet

- cn} and the ratip among il

sides is 2.3.4 8 the three
(i) A triang]e PQR w

ho i
.16 M and (e el ase Perimetey is
1S 3:2:3.

Given:

Perimet
sides 2:3:4
Required:

A triangle is to be constructed.
ruction:

Const

er 18 cm and ratios among

Math 'l
- " X2l 137 R L e L e Y I AT
";' A L u!d(’“‘.““‘.‘.‘....“.‘...r.f.#"ooo.-o'ao\ | . l“. ‘
False ngy Simlg (1) Drew xy o ) ‘
Talc L - ol () il YOl N
_Pr;lcsf\nol COngryen () Drew anangle n: :'H ' I 5 oual
Y \' i { o‘ \ i A ! ¢ .
o rue sion:?]ulrcs ar (i) Divide g|*in - |
—;i;c- . ;r ‘_md Congruent with the ‘\‘Vll‘ “" HHI!|M.~.".
. Write apg nq“ " and not congryent (iv)  Joined point I o point y /x|y
"~ the m; “lve equati onstrueted ZXIy ai XDy = Zxl'y,
Missing fuation to find §(v) ( ‘
i) Sol, 6measu(;s, Its arms join at pomt A, B,
(i) Sol;  X=3¢° o b(vi)  Constructed A ARC according o
Sol: (3x+12)+5x= 1800 i the measures of xA, By and A3,
3x+12+5x = 1800 (vi)) ABC is the required triangle,
'( ) 3’(‘*‘53("!-12 = 1800 2. Construct the required equi- latery)
v .
triangles,
I 6x+ - . ; .
S0 X432 < 90° () XYZ whose base is 3 ¢m,
3 Y i
Unit 1] )

KLM whose altitude is 4 cm,

Y

gy

(1) Drew yy - 6cm
(i) Dreway angle of 60 4 point x
$ (i) Divide 3F in 3"2"3 = § equal barts
‘ (1v) Joined point f 10 point y. .
3(v) Constructeq <Xty ang o LB
ZxFY . P
 (vi) Constructﬂ AABC dccording
measures of A, By ang AR.
§ (Vi) ABCis the required triang]e.
2. Construct isosceles triangles,
t (@)  XYZ whose base 153 cm,

!

S o B R RN R PR,

Scanned with CamScanner
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SLererteran retatatatatstatatatatatatasntas . g ,..4000‘0‘0‘““0«»..““
/ C X
‘ & 5cm
Jein )(
! A 5cm E
, : Given: Base 5cm and base angle 4? o
Given: Base.\‘ Jcem o \ i Rquircd A e S
' _ , be constructed.
- constrl?xict]:c;,red: An equilateral triangle is to § ((-:)onmulc)t,-i:\::ﬁ -
(c o s U : =450,
(i)O"S""Btr'e""“r'W =3cm ) Consmipt fZ Bdﬁfs c:15from point
(i)  Drew an}larc of 3 cm radi i (i) Drew an a%® &~ ' !
ius from point x. § . which meets Ax at pomnt¢.
and of the same radius from point y (iv)  Joined point C to point B
which meets first are at point z. v) AABCisa required triangle.
(i) Joined pointztoxandy. (b) RST with an altitude 7 cm ang
(iv)  xyz is the required triangle. _vertical angle of 30°
(b) KLM whose altitude is 4 cm. g
Given: Altitude =4 cm
Required:
A KLM is to be constructed. b
Construction: : ~ b
(1) Drew AR
(i)  Took a point D on KT, '
(iii) Drew /DKL and /DKM of 30°, 30° | RS i 344
whose arms join AR atpoints L, M. . |
(iv) AKIM ,is the required triangle. > g Gzl\vl:ir:l.xde 7em and base angle = 30°,
aZ\ } Required: An isoscales triangle is to
' be constructed.
Construction: __
30° () Drew xy i o
(i1) Drew a perpendicular ) on xy
Ve (iii) Joined the intersection of two arcs by a
| ruler and draw a line upto xy
t(v) CutmCp =7cm
) H $(v) RST is the required triangle.
A % D y B $(c) XYZ with Sem altitude and 30° base
3. Construct isosceles triangles. ¢ angle.
(a) ABC whose base is Sem and base angle §
; is 45° ‘
(b)  RST with an altitude 7 cm and vertical
angle of 30° :
(¢) XYZ with S5cm altitude and 30° base :
angle. |
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\\f Muhu( ceetmen N 139 Malh 7
? r'"’\'mdc Scm, base anblc 300, """' 0000000000800 0000005000 000000
,; od: < (‘“) Cut off Q]{ = 4cm
141111 ;\,, isoscales triang]e jq to b (iv)  Drew an arc of radius 5cm from R and
cted: = another arc of radius 4cm from point P
g gction: : which meet each other at point S.
A prew a line KL (V) Joined point S to P and R.
) prewanaltitude D = 5., (vi)  PQRS is the required parallelogram.
) constructed angles of 600 o at C on § ()  ABCD in which mAB = 4cm, mBC
) i poth side of CD (60°+600 < 1209 ! =3cm and m £ B = 60°
rays of the angles cut KL at points A § wom NC
11") aﬂdB { D
ABC is the required triangle, %,
) EXERCISE 11.9 : % ¢
Construct the required parajiejo. | 1
Jr grams. : 60°
. . —y— — 4 B
PQRS in which mPQ = 5., QR= | ___mA _4cm
’ iven: = = d B
) som and m 2 Q=455 ‘ leen.-——és(‘)]g 4cm, mBC = 3cm and m /£
b) ABCD in which m AB = 4cm, mBC = { Required: A parallelogram is to be
3cm and m Z B = 60° § constructed.
: : -— — $ Construction:
) ACEG in wllﬂ] MAC = 7ecm, mCR 3 (1) Drew AB =4cm
=5cm and mEA = 9cm, ¢ (i) Constructed an angle of 60° at point B.
(d) PCBM mPC = 4Cm, m_@=3cm and " (lll) Cllt off BC = 3ClTl. .
MC = Scm. !  (iv)  Drew an arc of radius 4cm from poin C
! and an other arc of radius 3 cm from
(1) PQRS in which mPQ = Scm, QR— ; . y ,
4cm and m £ Q = 459 : ;I))o.mt A which meet each other at point
Sol. (2) 1' (v).  Joined point D to A and point C.
Sem AS ‘3 (vi)  ABCD is the required parallelogram
e $(©  ACEG in which mAC = 7cm, mCE
{  =Scmand mEA = 9cm.
b G Tcm E
Hon/ | N
'}
$ Sem o Scm
4
Sem P I’
Given; mPQ =Scm, mQR =4cm and m £
Q=45°. {
Required: A parallelogram is to be A __Tem
‘Onstructeq. $ Given: Measure AC = 7cm, mCE = 5cm and
-Ostruction: tmEA =9m

Drew pQ PQ =5cm

(i) Constructed an angle of 45° at point Q.
.““M‘

& B-d B R 3 & S o o ol > o

Required: A parallelogram is to be
constructed.

5P DISH
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Construction:
(1) Drew ACQ = 7em,
(1) Drew an arc of radius 9em from point A
and another arc from point C which
meet cach other at point 5, t ()
Drew an arc of radius Scm from point A ‘
and another arc of radius 7cm from
point E which meet each other at point i
G. Joined point G to A and E. 5
(iv)  ACEG is the required parallclogram. -
(d) PCBM mp( =d4em, m(CB=3cm and )
MC =5cm.

P 3em m {3

()

G 3cm Bi s alh
Given: ;PC, mCB=3cmand m §

MC =5cm (b)
Required: A parallelogram is to be
constructed. »
Construction: i
(i) Drew CB=3cm
(if)  Drew an arc of radius Scm from point B ©)
and another arc of 4cm from point C }§
which meet each other at point P. '

(iif) Drew an arc of radius 4cm from point B
and another arc of radius 3cm from
point P which join each other at point
m. €
(iv)  Joined point M to point P and B. (d)

(v) PCBM is the required parallelogram.

2. Copy the following triangles in your
note book and verify that the sum of |
three angles of each triangle is 180°, 1.

“angles of eac

i ¥
-

Mall,,7

“““““00“““““““

poeT Lo

e drilateral i
the following qua in
C(:)l?! note book. Measure the four
anles and prove that the sum of foyr
h figure is 360°

p 32cm __S

zgj
\9’3 g'l”

K 45cm B

P 35¢cm
‘f
2
M 3

o l%;

S5cm
w 5.2 cm F
£ §
0 o0
o~ o

U 52cm B
] 4cm F

4Cm
o}

14 4 cm N

REVIEW EXERCISE 11

Divide a 10 c¢m line segment in 5

equal parts.
F { Construction:
E S Y WS AT —
@) £ : (i)  Drew AR =10cm.
$ (i) Constructed an angle of 40° from point
M JIcm S

A upwards and another angle of 40°

o~ T b
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¢
\_. ' 0 point E dO\VnWardS. "“..““1,?1
0" ., the arms of b T, Math-7
jvide oth angles ; Lof Stetsioresesaiarascssses
PV s, in five § . ol Sem length, i
f cqua]p (iv) onstructed
JoiﬂCd the arced parts iy, of point angles of 45% on both sides
) Mperam Parts o } QPO K Whote amn mest xy at P and
ence BC CD. DE, EF and 7 (V) PQRis th ired
] Hre required equal parts, dFG 14, Construz treq“""d triangle.
ar +de 5 cm line se with a parallelogram SACT
pive . gments in the ith two adjacent sides measuring 4
: ratl0 of 3:2. : ¢m and 3 cm at 60° with each other.

D

ruction:
Drew AB=5cm.
Drew an angle of 60° at point A.
pivide the arm of 60° into (2+3=5)
equal parts. ‘
Joined point D to point A.
Constructed ~ ACE at point C = /
ADE whose arm meets AB at point E
Hence AE : EB=2:3
Construct a triangle PQR whose
altitude is Scm and a base angle is
45°,

&)

45° |45

Const

)

L

M

P L . :
Sﬂl« Construction:
) Drew ;—\. —
W) Took m{_\' poilll L at xy i
W) Constructed an altitude m from point

[
.
4
<

¢
L

Given: = OR
ven.4 51;Q = 5cm, QR = 4cm an angle of

Required: A i
| parallelogram is to be

4

(;onstruction:
() Drew SA =4cm
(i)

Constructed an angle of 60° at point S.

(iii) - Cut off ST = 3em.
(iv) Drew an arc of 4 cm from point T and
another arc of 3 cm from point T which
meet each other at point C.
(v)  Joined point C to point T and T
(vi) PQRS is the required parallelogram.
5.  Construct a parallelogram ABCD
such that
mBC = 4.5cm, mAB = 3cm and ZB =
45°
Sol. Given:
t Adjacent sides 4cm and 3cm, angle 60°.
Required: A parallelogram is to be
4 constructed. |
} Construction:
(1) Drew 8A = 4cm
(i)  Drew an angle of 45° at point A.
(iii) ~ Cutoff 3 cm from point A.
' (iv) Drew an arc of 4cm from point C and
another arc from point S which intersect
’ each other at point T.
(v) SACTas the required parallelo- gram.
T J 4cm C
4
| §
» R
'}
: S acm A
{ Construction:

P
S99 O%®

o B DD PR )
PR 2909298
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CIRCUMFERENCE, AREA AND VOLU

EXERCISE 12.1

ME

gt.uf:'c Middle Guide 142 . M,,”h?
(1) Drew RA = 3em A 1 scc-, how much distance will it c‘.’:t‘r‘
Uﬂ Constructed an angle of 45° at point B. in 10 seconds?

(f"\ Cut off ﬁ@ =4.5cm E Sol.

(V) Drew an are of radius 3 em from point {{ Diameter =[42em Y
C and another arc from point A of - 22
radius 45em which mect cach other at Circumjerence s 7

o el Z[B2em

v)  Joined point D to point A and C. : - T

(vi) ABCD s the mqu?md T T Al 52;‘3 = e

A 3. The sccond needle of 2 clock i!mJ
How much distance is cover- ed by jgg
§ outer edge in 24 hours?
¥ IS (Hint: there are 1440 minutes in ,
) day and night)
? Y = | Sol. ——
L) Length of hand =|7 em ]
= Diameter =|2x7=14cm
B 3cm 9)
- m ; Circumference =14 ><—2; =44 cm
Unit 12 /

Distance in 1 hour

44 x 60 = 2640cm |

24x2640 = 63360

63360

cm. If it completes two revolutions in § 2, A ball point pen has inner radius of

g Radius of a circle is 35 cm. Find the | 633.6|= or 63360
circumierence of this circle. 1 100
1 : ~ [=]633.6 Ans.
Radius =|35cm '
= EXERCISE 12.2
Curcumference SRS 3 1. The height and radius of a cylinder
7 : are 3 cm and 1.5 cm respectively,
=1220 cm ' Find the surface area of the cylinder.
r & Radius of a horse cart (tanga) wheel § Sol.
is 72 em. How much iron strip will be §[Radius =11.5cm
needed to circle around the wheel : Dictster = (1.5 x 2 = 3cm
(1: Z 2‘2 oF 3.14) §| Surface are_|= 2ar(l+71)
7 t 99
Sol. : = [2x 7 x 15 (341)
Radius =|72 cm
Circumference or the| 29 =12 x — x1.5(4.5) .
length of iron strip = |72x2x T 7 :
1 289 44 x675
_[ 3168 | B ek
v "‘7_ =452.6 cm |4 7 7
3, The diameter of a bicycle tyre is 42 j, = [42.4 cm
1

O 0D 050080008808080 o 209

. 5D d B D0
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{ haid M Raah Lo L
/";:nx and length of 90 n mm, llmx 6. A tube light is 100 ¢m Ion(_, and has a
mal‘no mm3 of ink will bhe needed to ‘ diameter of 3 cm. Find the surface
fill 1ts area of the tube light.
“,I/, =T _$ Sol.
Qadius L ! Diameter = |3cm
x_snglh = 90mm : {{ Radius _ = |3/2 cm
olume —|V=Trh  Length = 1100 cm
\ K 22 { » —
| == 22 32%00 1 Surface area 22nr(f + 1)
| 7 i _ 22 3(3
— = 11313 e ~ | 2% x5 500
fRadnus of circular play ground is : —
*  35m. Find its area. _ 1132 203
Sol. ! RIS
Radius = 135m ' ~
e = (7 _ | 13398
— 14
. 22
Area N j = 1957 cm? Ans.
— = 13830 7. A godown for grain has cylinder for
1 m” ‘ storing grain. If the height and radius
i The circumference of a circle is 176 | of cylinder is 15 m and 3 m
cm. Find its area. ' respectively. Find the volume of
_§0_|~ cylinder.
Circumference = |176cm % Sol.
_ 1767 Radius =13
= = [
Diameter 29 = 56cm 4| Height =|15m
Volume of cylender =| mrlh
: _ | 56
Radius S 1T==28cm { 22
2 : = —x 3x3x15
Area = | nre 7
|
' ' 2970
?_gngxgz = 246 cm? 1 | —
7 , 7
5. A car engine has three cylinders if =|424.4 m’
each cylinder has a radius 4 cm and $g, A honey bottle is LylllldIICdl If its
length 6.6 cm, find the total volume"'. vglume is 275 cm' (n“) find the
of all the three cylinders. height of the bottle if its top has the
Sol. 1 radius of 3.5 cm.
Radius = |4 ¢cm % Sol.
Length = 16.6 cm Radius 3.5m
Volume = | Tréh $[Volume 275m’
29 Volyume nr'h
— %X 4x4x6.6 2)
s 7 $| Length A
Volume of 3 = 13319 x3 ¢ i
cylenders 1
L =1995.7 cm?

>toteoe

G0 -l b

DIVIVISVIOISESITITIDLSAIDICOTE
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L;g;;ﬁitf"ﬂ::':{’:t:i':i‘o’:.ohooooococo-.tol:_':-‘-f'.“‘.. ..(:,;... 'l'll(! .‘”"'r“cc area of 5:1:;;;“:?:7 1‘
B B BT determined by ey
et 4 f 1
22:’(".&;),1;54—-/ (El) ;;t '(//" r) (h) 21!1—2”2 ‘f
(c) 27N 1 |
x275x10%10 (d) 2m L (L 1)
""”'15)/.35 {(viy The volume of a cylinder j foy |
55 {7 ) 2 (b) m2y by
| 5500 i ©) ﬂrZﬂ (d) 27y
770 —8 (i) The constant ratio betweg, X
7.02 I ircumference and the digp, ¢
9. The circumference of Earth is about zirclc i called: Cler of ,
25,000 miles. What Is the distance 10 ‘ (a) Pi (b) Phi
- the center of Earth? : (c) Si (d) None
Circumference = 25000 miles (viiiy The ”‘E"’ between a Circumfey, L
. ! and a diameter of all sizes of cirgl i
Diameter = 25000 x 5 ‘ 22 ) '
4 ) = ey
= 7954.54 miles il ' ® 277 2
Radius = 795;'54 ‘ © = (d) None
=3977.27 miles § (x) If the radius of a circle is 14 ¢p, it

EXERCISE 12

circumference will be.

. X . b) 88
(Objective Type Questions) (a) B&cm L 4 4mm
Choose the correct option. ' (c) —cm (d) - mm
(i)  Pi(7)is the ratio between AN ] i 3
(a) Radius and circumference (x). The diameter of a circle is 8 unis,
(b) Circumference and diameter What is the area of the circle if g,
(¢) Diameter and radius § diameter is dzouhlc?
(d) Diameter and circumference (a) 50.3 unit ,
(i)  The value of Pi(7T) is approxi- mately | (b) 100.5 units
¢ e
equal to i (c) 201.1 units
29 7 (d) 804.2 units?
(a) 7 (b) 99 Ans. (i) (b) (i) (@) (iii) (c)
97 923 : ('V) (d) (v) (C) (V') (c)
() — (d) — (vii) (@) (8) (a) (ix) (a) (x)c
. 7 ) 7 2. A compass is opened 14 cm on 2
(iii) ]‘_"rm‘_'la for the circumference of a | ruler. Find the length of the circle
circle is: drawn by it.
(a) mr? (b) 2712 ! Sol.
44 4| Radius = [ 14cm
_r <
© 7 () Noge $ Diameter =14 x 2 = 28 em
(iv)  Formula for the area of a circule is: "
2 ¢| Circumfere _ |22
(a) g2 (b) ™ 1: 2 —x 28
(c) 277 (@) mr ' : 4 _
i 3. A cylindrical milk container needs 10
L e L T U soe St oseses = ko L3 Lt e ot s
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“ﬂ“ﬂoooo"ooyno“oooooo.oouto-oo-ooooo.o'oooto'000000000'0090‘Cf.bcoioioOooou.c.-
"""l.w painted. 1f the eylinder is 7m long ' is 4 m. How many tiles will b
with radius of 2m, Find the cost ol required to cover all ity iunc:" surlace
painting it, if per m cost is 27 rupees. il the area of one tile is 0.9 m=?
sol. Sol.
Warcn = 1 2me () jt Diameter dm
! _ | 88 o . . 2
—x9 2N37-ﬁx2(7-|72) Radius { =2m
—_ -
= | 292 Depth = [50m
e _ :
7 X227 Surface arca = | 2nr (( +r)
2()'} YO, 22 -
T = | ZZ24py _ 7884 i = 2% Z=x27(2450)
7 7 ! l
I = [ Rs. 1269.14 : S8 . 4570
T A cold drink (in has the radius of 3 ! 7 - 7
cm oand is 10 em ip height, Tn o} .
]unky:lrd’fls height is compressed to §f Number of tiles = | 3376 xl_ﬂ
1.5 em. Find its volume before and | 7 Y
after the compression, 5 -
Sol. | 45760
T L - = 725 tiles
Radius = |3 cm 03 EShlL
Height =110 cm ' ======
Volume ik tUnit 13
2 '
-123x0 |1 INFORMATION HANDLING
7 ‘ EXERCISE 13.1
= | 1980 : : { B The frequency distribution of the age
- =282.9 cm ' of adults who listen to FM radio is:
= : il Sr.No. | Age (years) Frcqucqcy: pereent of
= 3x3x 22, 8.5 listeners
7 10 1 15525 12
5 "‘7_" =240.4 H 3 35-45 32
\ - . . Iy 4 45 - 55 2
5. Find the area of the head of a serew ir { . =
its diameter is 14 mm. L9 59 - 65 1
.S_"ﬂ $ (1) What is the percentage of listeners 1in
Diameter = [14mm ’ the first class? |
) () What is the minimum age limit of
Radiug 2| R i listeners in the frequency distribution?
- 2 .E (¢)  What is the maximum age limit of
Y ' listeners in the frequency distribution?
Arca TxTx — $(d)  What is the class interval of the
T 7 ‘ frequency distribution?
| y
L = 154 mm? Sol.  (a) 12% (b) 15 years (¢) 65 years (d) 10
6. A'well'is 50 m deep and its diameter $2. The number of units produced per
—— ! day in a factory is:
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PPt NI et et et PPttt stetetst sl eteledsteletsdD 2%,
Sernial a1 Frequency: Units {4 Jother 50 |30310=I6 y
Number | 55¢8 produced products (100%) =16%
1 30 - 40 | Total| 310 |100%
) 40-50 l b The pmponion in each category ig ™
2 f e ‘ FOllOWIg: ot paper=360°(43) = 154.8°
4 60-70 ? Hand towels=360°(.27) = 97.2°
5 70-80 7 z Napkins = 360°(-14) - 50.4°
6 80-90 2 Other Products=360°(.16) = 57.6°
7| 90-100 5 §  The pie graph is 2 under
.8 100-110 2 j'
Total 25 days H
(a) How many days were studied in the :>
frequency distribution? :
(b) What does 7 represent in frequency :
column? '
(¢)  What is the fifth class interval? :E
(d)  What is the unknown frequency of class ::
47 '
Sol. ! 2. The number of units of electric
() 25days (b)7days power company consumed by
(¢)  units production from 70 units up to 80 consumers in different categories are

units. d. 25-19 = 6 days
EXERCISE 13.2

| Damage at a paper mill (millions of
rupeces) due to breakage can be
divided according to the product:

Toilet paper 132

the following:
Domestic
Commercial

Industrial 8000
Draw a pie graph to indicate the

1950
4000

} percentage unit's consumption in each 3.

Hand towels 85 category.
Napkins 43 § Sol. RN s
Other products 50 $2.  The frequency distribution for the above
Draw a pie graph to indicate | problem is:
percentage damage in each category. Sr. | Classes/ Frequency Class relative
Sol. No. | Category Frequency
1. The frequency distribution for the | _
above problem is: §| 1 |Domestic| 1950 = 14(100%)
Sr. | Classes/ | Fraquenc Class relative |} o
No. | Category sl Frequency | il 0
1 [Toilet 132 |132/310=.43(100%) |§| 2. |Com- | 4000 - 29(100%
2. |Hand 85  |85/310=.27(100%) =29% |
towels =27% ‘:
3 | Napkins 43 | 43310=14(1005)=14%| §
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o e '
=T uatrin By

“v’fl.-”;' / . .
| w 5T (16414)

517%,
e s T E— AP
Total} 13950 ey,

sercentage unit's

. sele Middle Oulde
4

./

s R —— s S a——————r g
o~ | he propertion in cach l.;l!l:;{!:r‘/ 14 the
P ‘f/,'ia'"l:!‘

Domestic SO0 4) - 5047
Commercial 3667 (99 )= 10447
Industrial 360y (.57) = 205,27

The pie graph is a5 under:

The number of
sector universit
the following:

students in 2 private
Y in cach category are

BEA 61
BCS 41)
MEBA 2%
B.kng 70

Draw a pie graph to indicate the

consumption in ezch

147

Math-7

J“""“““”””"“7"‘-”’-’131-“:‘““‘2““

20 BCL L A | A5 - 0.200000%)
207

o | mea | 22 [ 2225 - 0.140100%)
= 14%

AL B Eng | 70 | 70/25 = 0.35(100%)
| =35%
| 200 100%

PR

Exercise 13
The numerical information is called:

a. data b. table
C.  knowledge

) d.  none of these
 ii. Data can be available in
i 2. grouped data
b.  ungrouped data
€. none of these
't d. all of these
biii.  The lower limit of a class 7-12 is:
: a. 12 b. 7 |
% Cors d. none of these
% iv.  The upper limit of a class 5-15 is:
Sr.| Classes/ Freq- Class relative ! a5 b. 15
No.| Catepory | uenc Frequenc ! c. 10 d. none of these
—=7) 2 l 4 by, The class interval of of a class 14-18 is:
M oeea | 62 {6225 = 03101007 ) |} =14 b. . 18
=31% ' c. 32 d.4
T § vi.  If the central angle in a pie graph is 90°,
.~ S L R e T e b
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the proportion of that part is;

P
50% b.

750 d

25%
90%
The time (in seconds) to run by 36

{a.
§ 25 as pocket m
§ money in the

. ; Miaar Y
A student of class 7th is getting rupee

oney daily. He spent the pocke

He saved rupees 3 according 1o aboye

?
: $ expenditure. Draw 2 pie graph 10 show the
<tudents a race of 500 m develops a dat2 i expenditure in each category.

set:
So
15, 20, 44, 51, 40, 59, 44, 47,42, 81, § 3 The frequency distribution for the above
54, 39, 30, 55. 61, 39, 47, 44, 49, 50, § problem is:
52, 47, 44, 51, 59, 55, 59, 43, 44, 41, 4 S TClasses | Fre- Class relative |
41,42,46,54,51,52 [\ - ) frequency
rganize the data in a frequency § No. quency d ————
distribution with 5 as the class interval. 1 Bus 14 14/25=0.56
H
Sol. The frequency distribution is as under: § fare (100%)=56% |
Sr. No. Classes Frequency |3 > [Recess| 8 |8 5 = 0.32(_]00070)"
g 40-‘}? 163 § 3 |Money | 3 3/25 = 0.12(100%)
i = | ek - 12%
50-55 :
3 55.60) 6 ! Total | 25 Rs. 100%
(; - 1 i The proportion in each category is the
. SO ! following:
Total - 36 students |} Bus fare = 360°(.56) = 201.6°
3. The frequency distribution § Recess = 360° (.32) = 115.2°
represcnts the annual tempera- ture ' Money saved=.360°(.]2)=43.2°
(°C) of a certain area: g The pie graph is as under:
Sr. No.| Temperature | Frequency; days {
(°C) §
1 0-10 43 $
2 11-2 70 :
3 22-32 110 ;
N 33-43 94 g
5 44 - 54 48 i ‘
Total - 365 days ; i!d’
a. How many days of the year are involved § Y
in a frequency distribution? i
b.  How many days of the year are found § Yk @k AA )
coldest? § The End °
c.  What was the maximum temperature § I
throughout the year? s
Sol. (a) 365 days {
(b) 43 days g
0, 5 : »
) o — —




